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This booklet contains 180 multiple choice questions. This Question Booklet is made up
of 2 Parts. Part "A" contains 30 guestions (Q. No. 1 to 30). Q. No. 1 to 20 is of 2 marks each.
Question No. 21 to 30 is of 1 mark each. Part "B" contains 150 questions (Q. No. 31 to
180). Each question is ¢f 1 mark each. There is no negative marking for wrong answer.

ggnenent ciews (Ms) erewr 49, wellg eueardy (M) grewp mmar 23.05.2022 erig wapmy
Spestranser s L mw ) Csiaied)Brs allevssallssLilil’ (b)eaTaresty.

As per GO (Ms) No. 49, Human Resources (M) Department, dated 23.05.2022 differently
abled candidates are exempted from the Compulsory Tamil Language eligibility test.

QXILDBFHHLILIL L Cung Csiaigser 210 IO L_mi% e

HITGV AT rmmigS mestref GsFaliser 240 BILO)L_mi%eiT
Allotted time General candidates 210 minutes
Differently abled candidates. 240 minutes
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@&MILILJ&aT/ INSTRUCTIONS

( souastons: LIIYSFH Y SeTLLg BbLgsajw / READ CAREFULLY AND COMPLY)

&R w @mLiLyser / IMPORTANT INSTRUCTIONS

OMR aflewL_ggrafew, aflarrs GgT@LiL aiflensFew snH6\sar SILiLL Haerer @)L 3 Fe
aflesresrLitigryCr sRlwrss BlyLiu CeuessBLo.
Candidate alone should fill the Question Booklet Series correctly at the prescribed place in the
OMR Answer Sheet.

ewrenTLILISTIT $651% @ MFsLILIL L afleng0)s 1 LILITeSIS S651g LITL_SHD&NWST TRTLIGNS FHLITISS|S
Q& mererayLd oY) @)(HBST6 2 L 6STLY WTH enm HerdsnesstiLiLimaril b 0)5alss Gealer(BLd.

Candidates should verify the subject of the question paper given to him/her. If the subject is
changed inform the Hall Superintendent immediately.

@mllyseer (pupeugions L sgill® OMR alewrggrefled euflens erewr 1-aSlprg 16 wpmpyd
MNerrs0sm1@LL0 auflens etewr 1-a0lprg 16 auenguilevres ssaIRE®maT Seuesiong BILILIGLD, BBI%6T
@oLysaie gmpluyereruy Fluner peopulled ssasamar BlrLil) st @)L naiige, 2 EEeTg
aflewL_gsrewar P LILTH CFuiuyd Cingy epL®B L aflewareys @@ HrisGer O ummLiLTaiiser.

Read Instructions completely and carefully and fill in the details from SI. No 1 to 16 in the OMR
Answer Sheet and Sl. No. 1to 16 in the Question Booklet. If you fail to fill in the details and sign as
instructed correctly, you will be personally responsible for the consequences arising during scanning
of your OMR Answer Sheet

. sauprs LYis® Oewiwlin@w/ Qsiuliu moe 2eter OMR allen_gar ser wHLIF 19D@ B S55
Q@ marer L om "L 1g).

OMR Answer Sheets will not be evaluated if the OMR Answer Sheet is filled in wrongly/unfilled
afestng 6z 1@ L0 OMR allewL_gsmafer erereneni 950 Cser saLiLL HaTer Q)L sHev 61(ps Couedr(BLb.
OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

. @Qns aflarmsOsngLiunarg 180 aflarmssmer 24 Lgsmsaiey GsTe(Rarers. aflarms 6l%ma@Lilener
Sos@in  APeynissLiu’ L HaiewrGr  feveLiugmaiser  alerns0sn@Ller  FeSl i
waPewgsemer Fnss Couarpd aiatis 6sm@gLear Lugsw 3 SBrs 20 auewg 180 alesrrsser @)L Lb
QLI DI GTATGTCUIT 6TGS LITTSSHGYLD.

The Question Booklet comprises of 24 pages having 180 questions. After being instructed to open
the Booklet, then only the candidates should open the Question Booklet seals. Check whether the
Booklet contains 180 Questions starting from page No. 3 to 20.

. Ywarsg artss@rs Lallewl aens aflartsser alblaunm alamalp@d @Gy @ Fllwmes aflen
L HGLo 2 aTeng) saipres aflenl_& @55 @ FLIGLIGHISET GeODSSLILIL IDTL L 1.

All questions are of MCQ (Multiple choice question) type. There is only one correct answer to each
question. There will be no negative marking for wrong answers.

Qo) aflerng s eoar Glamesst LS iy Syenaigg aflarnssepd @)@ Gwmflsailed uLiLL B erere. ($LLh
LOPDILD BIFH6V LITL_EIS®6aTs Failr)

All questions other than language questions are in bilingual. (Except Tamil and English Subjects)
afestm (Bsa6T) @6 seupsar @) @pLiller, Csiailer Cung @Qps aflert ($s6r1) #f Oeuiwiu or' L 1g.

In event of any mistake in any question/s, no corrections will be made in the Question/s during the
examination.

aerngClgm@Lifer @muuied, Geuigy umiliugpOlset seaflwuns sl Berer @)L g5GmGw ROUGH
WORK Q#uig uniss Geues®d. Qens allesinsg 6lsm@LiteS)(bbg FfG55dm L 15 FnBHSD STATHET 615/ aLD
QULPEIGLILIL_LDTL L _TZ).

Rough work, it any, may be done in the Question Booklet only in the space provided at the end of the
Booklet. Do not tear it off from the Question Booklet. No additional paper shall be provided.
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Gaiay <epuiled oL Fems L L uement TGO L[ daraCsmed Quramue CsranewCus), Gugd,
el a0 prl@GHLGU® wHmID eTES0euT(h  LOSTETEY FISEIBISEOTULD LIWGTLRSSHIUS Sl
QEwwiuc B erergy @ aupeon LIWIGSTLI (RS B) 68T TG0 5SS BESLD QeviwiL@aiser.
Use of Log tables, Calculators, Slide rules, Mobile Phone, Pager, Digital Diary or any other electronic
item/ instrument etc. in the examination hall is not allowed. Their use will result in disqualification.

. @65 1 f aflerrssmer Professor Academy -9, CsTGFSSLILIL L G

This Model Question Paper Prepared by Professor Academy.

afes1ngClF 1@ LiLITesg afletentLiLigmiise@psd 9.50 wp.u. 6@ eupmsLiL®LL. aleTesILiugTiiser alens
Q@i wpnio OMR aflen_ggmafled BlrLiu Geuswrg w afleugmisener #flwns BloLin Geuesr@o. 10.00 wp. s
wessllg@ pesr  wewnfl  @dlE@Ld. ysear LnGs Gl lullL  wps@evgemw PnEs  Ceuest(hLb.
aestngClgm@Lifewer Sppsai ar aGseyd LS/ aflarr @QaTed Q)BSEDST YOG LIGSHEISGT
FPpCsr FHwns yfx LUFe YsTLCwT QBSFDEST. G LSS FPHLOLL FBHLOL UBHDST 6T6eT
Fsflunissayns  alleng QsrgLle, emGswumag aGsaihd Gop Q@nLUlab, Iyos Hon
sewrsresfiLiLmerfli b Clsfallgs aflerrs Csm@Lillemer wipmls Csmerer Gouessr(®d Csha) (LpLY eUSDHETeS
615515695 ewfl 1.25 19.1-8@d, @QmuP toewfl 1.30 9. 1. SGLb 919 &G Lb.

The Question Booklet will be issued to the candidates at 9.50 am and the candidates must fill in all
entries in Question Booklet and OMR Answer Sheet. Candidates should open the question booklet
seal after a long bell at 10.00 am. After opening the Question Booklet, ensure that any page/question
is not missing/not printed/torn/ repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Room Invigilator and get it replaced by him. Warning Bell will ring at
1.25 pm, and the last long bell will ring at 1.30 pm.

Gaiay eresst OMR aflew_ggmar eressr, aflerns Glgm@LiLy erewt. OlLiwi wPmith ensuwimLiiLh
Cuneaipeneusener 9snCsear allerng Cgm@Liy wppitb OMR aflen_ggmafled soLiLil Berer @)L gH e
Bl Geauess(hLd.

Write your Roll No. OMR Answer Sheet No., Question Booklet Series, Name and put your signature
in the space provided in the Question Booklet as well as in the OMR Answer Sheet.

@ai16leurep oflermaled A, B, C, D erarny @I Liuil Reirer prer@ aleo 6T SILILIL (H)aT6T6s.
Ra16)eumh NTTEUULD, FUGTLONS LIL) i, 2 5% @hSE FIWTTS 6163 H(BGILD aflenL_uflen s
GsiB0ls®ssa . OMR aflenL_gsmailed gaialearmalpCsear suLiuL Rerer @)L g% Flwmet oL’ L s
Blpef) B eus et epevid 2 migarg aflens eows GOILILIL_ayLd. Bped)® eusbm )68t &(Hew DB LifbSI(Lp GG
Guesmailestm or” R CGio LiwiaTLI(h) %% Geuesst(hLb.

With each question, you will find four possible answers, marked by the letters A, B, C and D. Read
each question carefully, and find out which answer, according to you is correct. Indicate your
answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding to
the question. For marking answer, use Black Ball Point pen only.

OMR aflent_g s maimerg) sessflet] epevid oG LILF® OFwiwiL®LoLILg g eIenoEsLILL R eTers). GLopdmmw
@OILLysmer seoL_L91g ss1ailg 60, senflef] apevd LHLILTR CFuicug @QuerssTHalBL. @)$eTTed
afessTenTLI LIS T (K8 eI LB Q)LpLILS @%@ aflesstenrLiLigmgGy GlumpyLiLimeuy.

OMR Answer Sheet is designed for computer evaluation. If you do not follow instructions given
above and shown in the OMR Answer Sheet, evaluation by computer will become difficult. Any
resultant loss to the candidate on the above account, shall be of the candidate only.

@B Loewsfl @edlLiILISD & (et 6165 6leunh aflessrentLiigTpLd Caiey Yemmeow il () QeualCwma
L5l Caia) yemmeyw oL HF OFavad wpary OMR allenL_gsgmenar ojenm evsrsmenf]LiLimarfl b
FLoiLiL96% GoussipLd aflesing Osm@Lilen e aflessenrLiLigTrGr 61(hs5IF ClFedevevTLD.

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet

should be handed over to the Room Invigilator before leaving the examination hall. The candidate is
allowed to take the Question Booklet with him/her.
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Q.1) ‘Fshpser oabLled Glacdayd @)aleuigsafled
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F) Senar

<) aumewTLD

@) 1@

Q.2) Qunmpsgis.

1. s180sem) - 9) QL &GdD

2. sewid - 9) Os1G8s5® allsmyLd
3. smuiwes - @) CaupmiewiosOsrens
4. Quuigpedm — ) aflenerrs 0% Tens

<) 1oy 2.93.74.3
<o) 1.72.913.9,4.3
@) 1.92.23.94.F
) 1.92.@) 3.9 4.5
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) &G3T6® LD Wl Gwl]
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@) 2 wiey FANHF o ess
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(3). 2 WO LOWITET @)UIGDL|S FETELD

. sail@petler &mlLiGLmpmed

<) 1.y 2.93.74.(3
<) 1.72.93.9,4.9
@) 1l.e2.93.4F
) 1.92.@) 3.9 4.

TRB

Q.5) 1989w 516510 a9 gICLIDD
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PART - B
HISTORY / augeomrmy

0.31)Consider the following literary works:
LeTeupLd QeESWILT LienL_LiL|SHenaT

% 6L GO W BIF GIT:
1. Akbarnama / Q)& UGHBILOT
2. Baburnama / LITUIGBTLOT

3. Tuzuk-i-Jahangiri / &)enw~%-(3)-20% 1 &) )

4. Shahjahannama / @y 15 MESTTLD T

How many of the above are autobiographies? /
GoGov Faplweummled 6185560 6T & WFLH) 6953 6iT?
[A] Only one/ gpa&vimy oL” (HLD

[B] Only two / @)gesst(B) LoL” (h)LD

[C] Only three / epestmy LoL” (h)LD

[D] All four / b rewT@LD

0.32) In the context of medieval Indian history, which
among the following events happened before the
establishment of the Delhi Sultanate?

LOSHW HTev @)BF W 61 T6VTHMIT @ Lpedlev,
06068 &S TEIHLD BMIeULILIBHUSD G
PG BLBS BIHLH6 61517

[A] First Mongol invasion of India / @) B&WT L5g)
s rIGHTed LienL QuibLiLy

[B] Invasion of India by Timur / SleLpii Q)FFuwim LG
Le»L Qu@mLiy

[C] Establishment of the first mosque in India /
Q@QBSwrailed (LpFed LIaTafleTFe BlnieeD
[D] Marco Polo’s arrival in South India /

O\ esrest B wimeys @ oaiGsm GLmGevmalles

QU (He %

0.33) Nimatnama, believed to be completed during the
reign of Nasir al-Din Shah, is
BF[- V- ST T YL F& FTevs Fed

TIPS LILIL" LG 6TRTM] H(HSLILI(HLD BILOSBTLDT

[A] A translation of the Holy Bible in Urdu / e»LiL9eT
2 &1 OomySOLIwFLiLy
TRB

[B] A cookbook and manual on the art of cookery /
FEOLDOWIGD LOHMILD FGLOWIGY FHeM6V GBS B0
[C] The constitution of Sur Empire / @ J FTLOITEO W
QY TFWGEHLOLILY

[D] A book on strategy, tactics, and leadership /
WSS GL_LLb, SBFILD LoD DILD

Se6even Louflwed LiPpPlw mTeY

0.34) In the context of the revenue administration of the
Delhi Sultanate, which among the following statements
is not correct?

06060 H6VS T6THSF) 6T Q1 (H6 MU

BlITSHS BT (FLpedley, LI68Teu (HLD
IYWFH S5 66V 615 FaMD TS|

[A] Khalisa was the land revenue exclusively for the
Sultan / $&0FT BleveuHeumul Fe0%Ten|%G%

2 fluig)

[B] The igta was a non-transferable revenue
assignment / Q)&ST LOAHD (LPLY-UITS @ (H& TU]
RSI550)

[C] The kharaj was essentially a share in the produce,
not land rent / SIMg) Blev QUTL_60% HeOev, LIulF
LIBISTS Q) (BbSS]

[D] During Muhammad bin Tughlaq’s reign, Diwan-i-
Kohi was created for agriculture / (Lp& Lo L9681
S15a15 9L Fulled aeuFT UTIFFSHSE TS
Fauner-@)-Caman) o (HeunsHLILIL L G

0.35) The ‘tulughma’ and the ‘araba’, introduced by
Babur in India, were:
urug @pFwrelled B LpsLILIBSS W
‘GIISHLOT LOHMILD ‘Y TLIT GTGTLIGH L 6T6h 6 ?
[A] New systems of tax administration / L@ &)
BlIIUTS (LPeOD ST
[B] Cultural festivals promoted by the Mughals /
(LPFHVIHATTE 2615 GHNBHLILIL L FTFFTT
G mailprssaer
P.T.O



[C] Advanced agricultural techniques / GLotbrir "1
QIUFTW (LpEOHDFGT

[D] War tactics used during the First Battle of Panipat
/ (g0 LimestliL Gumfled LweTL(hS % w
Cumis kS Tmi%er

0.36) Which one of the following sequences indicates
the correct chronological order of the Vijayanagara
Empire?

afleow ps Ll CLITTF 8T FHW TGT & MT6veFensF
auflengFenw 96U LD ouflenFsaflcd 615
GDBE& DI’

[A] Sangama dynasty — Tuluva dynasty — Saluva
dynasty / FBISLD GULDFLD — %] @H6U GULDFLD —
FAGYI QU GULOFLD

[B] Tuluva dynasty — Sangama dynasty — Saluva
dynasty / $1@ha QULDFLD — FIBIFHLD QULDFLD —
FIGY| QU GULOFLD

[C] Sangama dynasty — Saluva dynasty — Tuluva
dynasty / FBISLD QULDFLD — FITGYIG QULDFLD —
&I @& QULDFLD

[D] Saluva dynasty — Tuluva dynasty — Sangama
dynasty / FT&I6U QULDFLD — &] @H6Y QULDFLD —
FBIFLD QULDFLD

0.37) Which of the following works was not written
during the reign of Imperial Cholas?

GLpsaHeTL Lo LiLjsafled 615 GFmpd
Cuorfer 91" g% Frevs P60
eT(LpSLILIL_aJlevenev?

[A] Ramavatharam by Kamban / &1b1L15 6T(LpS Wi

@ omomeugsaILd

[B] Kulothunga Solan Ula by Ottakuttan /

RL L FFmBFT 1B &Cvng g mis CFrLpet
o2 euIT

[C] Seevaka Chintamani by Thirutakkatevar /

B 355%CHaud 1S W Fask GBS TLo e
[D] Manucharita by Allasani Peddana / 9|60 ev&mesf)
QLIS ETGOIT 6T(Lp B W LOGR)|FAS LD

0.38) Consider the following statements:
LI GVTeU (HLD YD) S eHFESHE AT & 61 6o U] 515 T

1. The Tomb of Itimad-ud-Daulah, called “Baby
Taj,” has the largest dome among Mughal monuments.
TRB

/"GuL) $Mgd" 6T Y e®LPHBLILI(HLD

@B 1o15-2 3-01F 6TV T HOWED, (LPHGV M
BleneTeyFF esremisaled L0&LI6)LIflw

@M G55 )% 65T (H) GTETS).

2. The Bibi-Ka-Magbara, the “Taj of the
Deccan,” was built by Jahangir in memory of his wife. /
“L_Gamesflesr med” eterLiiHLD LY ST LosLig,
DEBIET SIS LOTNEHTH HLL_L1LIL" L F.
Which of the statements given above is/are correct? /
CLoGev 2_aTeT 9 DBISmFHNGD 6151/6T6M 6
FRlwmests)?

[A] 1 only/I oL (HLbD

[B] 2only/2 toL_ (LD

[C] Both 1 and 2/ 1 1opmiLd 2 () gesst(p) LD

[D] Neither I nor 2/ 1 2je0avg] 2 96060

0.39) With reference to the Golden Temple (Sri
Harmandir Sahib) at Amritsar, which one of the
following statements is not correct?

20 isFradled 2 aTar $miss GFmalled
(amiwpSd sranlLl) GPlssl

L9 G8T6U (HQUGTRUD MGV 6TSH| F 61D TGETS)?

[A] The Harmandir Sahib was built by Guru Arjan
Sahib, the fifth Sikh Guru, in marble and copper
overlaid with gold foil. @pFLoBF T FTalL],

DBF TS| FHFNW (& (HeUTET (T T
FTQDILI U FHATTE LIGHEI &S %He0e0)ey LD,
Qe ed L L LUl @), KeTeTd $miss
SFBHsarTed GeuwLitil’ L g).

[B] Guru Arjan designed it with entrances on all four
sides, signifying openness to all castes and creeds. & (/h
<9I TSQGHT | U TH T 9 OGS %I FTFUINGHT (% LD,
0SS PG (155 GHLD HD S LOGTLILITGTES LDILJL_GBT
QBLIL®SSE GG auangulled, Q) ES
VWSS BT S BHenFHaney/Ld

Bl peumuilevsaT O\&mewTL_eumny

QLY QUGHLOG S L.

[C] Its architecture blends Muslim and Hindu styles
prevalent during that time.

@B HL 191 FFm, Y5FTRVSF Blevalws
(L@ eOLD LopmILD @) Bl Limewsilas el ear
FHVE U TS 2_GTOTH.

[D] Maharaja Ranjit Singh reconstructed the temple in
the 19th century after Afghan invasions. LD@D TITEYT

P.T.O



I6HFS Fsl Y euisaer, gy LismestlwL

e L Qu®LiLseEGLI LD @, 1994LD
HIDDIeTIY 60 Q) Bss5 Camuilenev Ly ILILN5 S
LGS TGO LOS S ITI-

0.40) Consider the following historical figures:
LG (BLD UTGUTDMI [BLITSHEHGTL]

LIfNESFFaLD:

1. Guru Nanak / & (5B T65T

2. Krishnadevaraya / &) auewrG% 6 g f
3. Mira Bai / LOgmumui

4. Vasco da Gama / aume0G& T L SHILDT

How many of the above were contemporaries of Babur?
/ GoCBev 2_airareuisafed 61%5emest GLig
LITLISGST FLDS VS B GoT T ?

[A] Only one / @@ eui oL (RLD

[B] Only two / @)Beud LoL" (hILD

[C] Only three / elpaug 1oL (h)LD

[D] All four / BreO6u(HLD

0.41) With reference to the religious history of India,
consider the following pairs:

@ BPWTST 0% QUFTHENDL]

QuTnISS e, LI6ET6 (haUaTo DD

% 6L GO W BI F GIT:

Sufi Order — Region of Influence / @o%L9 a1flens —
CFOUTEG LSS LIGHS

Suhrawardi — Sindh / &aITUT% — FB3)

1. Chishti — Delhi and Western U.P. / $1ay%) —
Qe pmitd Cop@ 2 55511 LNTCHFLD

2. Firdausi — Bihar / o%1950)sa18) — Lfam mi
How many of the above pairs are correctly matched? /
GoGov 2_aTar ) e ewtsafl6) 615560 68T FHIW TS
QLT BSIF) 68T Go1?

[A] Only one / g@@&imi LoL" (HLD

[B] Only two / @) gesst() LoL" (h)LD

[C] All three / eLpeyTm)LD

[D] None / e1g|aLb (@)eemev

0.42) With reference to the history of medieval India,

Kesu, Basawan and Daswant were famous

Q@enL_Gsmev @)BS W TeeT eugTHEDHL
Qurnisseaieor, G, LIFaIGT LoPMILD

TRB

Favaups 9% Gwmd L97LI6vLD TeTeM TS 6T

[A] Painters in the Mughal Court / (Lp&evmwi i
9 TGTLO D GSTUIN BT G I T T

[B] Governors of parganas / 1173 T6vTT5 5 611 T
2 @B BISET

[C] Temple architects / Gamailed 1191 5
FE 6V GH IS 6T

[D] Philosophers / &%l a 6k Tewt|3 6T

0.43) The Buland Darwaza was built to

LIV bS STUTFT FLL LI L G

[A] Mark the coronation of Aurangzeb /
argmISFLILeT L L T9Capsse5

15169 G5Ta I [T

[B] Honor Shah Jahan's victory in the Deccan /
QTS M6 68T &% mewt GleupPleow Cmpm
[C] Commemorate Babur’s victory in the Battle of
Panipat / Limestlu” Guimile)d Limiifer
GClaupBleow Blenestay o

[D] Commemorate Akbar’s conquest of Gujarat /
SR g Qeupmlenw 56w esTeydnmn
0.44) Which one of the following statements regarding
Saint Ravidas is not correct?

G® 1ilgnad GPlgg Llaialpaletapple 615
S TS| ?

[A] He criticized caste-based discrimination in Indian
society. / FTSUNGO 219 L1169 LUV TewT
LTGUTL WL @)BbINI FLPHSF @ o]
QDRSS M.

[B] Mira Bai was one of his disciples. / LOFT Limul

9 UTH FL_FHaMN60 6p(HaT.

[C] About 40 poems of Ravidas are in the Adi Granth of
Sikhism. / 7@9% medle8T &L mF 40 %669 %% 6T
F35W 1053 P T 5 B IS5 60 2 GTGTG.
[D] He was among the Navratnas in Akbar’s court. /
9T 9% LK 9 gFe»auuiled @)BBHS

66U TS F GBI 6N 6p(HeUTTH ()b TH.

P.T.O



0.45) Consider the following pairs:

LI &ToU (B LD ()6W6RTSH e aT &6 68l 515 aiT:
Medieval Indian City — Built by / @)e0L_5%T6v
@BIw BHILD — HL 19 WeuF

1. Siri — Alauddin Khilji / 9§ — 96016y G st
2. Jahanpanah — Muhammad bin Tughlaq /
DFEGTLIGHTT — (LpSHLDG| LIGIT 515615

3. Shergarh — Sher Shah Suri / Gy Smg—
Gop oy @)

How many of the above pairs are correctly matched? /
CoGev 2_aTar @)ewentaafled 615%6wesT FHWI TS
Q) L1m(h 551 %) 3T GoT?

[A] Only one / gpa&imi LoL" (HLD

[B] Only two / @)gesst() LoL (h)LD

[C] All three / eLp@@TmiLD

[D] None / 61g|ajLb @)c0e»6v

0.46) With reference to the administrative history of
medieval India, consider the following statements:
@enL_gasmev @)pFwrailer Blia s
augTHenpLl Qumnisseaeny, LNeTeu b
o [D I F G GTS & 6L GO W 615 GIT:
1. Balban formed the Turkan-i Chihalgani, a group of
forty Turkish slave officers, to consolidate his sultanate
/ BTG FGOSTHISHDS UG LILIBSS LIT6VLIGH,
40 SIHEPW 9196010 NP FTH S 615 6l TesTL
"B 1% T6VT- (Q)- F D GOS T6wT)’ (& (LWL 60 LDS S T
2. Mugaddams were the most scholarly and esteemed
section of Muslim society / (Lp&SSHHLHFGT (Lp@VGOILD
FLPEHS PG LOFH @ LD 9 MWeUTHHS LODMILD
LI 0Es L0 aiTs @) b BSeTd.
3. Imams were appointed in nearly every town to
resolve civil disputes according to Shariat law /
o fwg FL L 11119 Dl LNgFFenesisenar
8085, S L G5 1L aa10eamih BSIeLd
@) ombseT BlwblSSLILIL L 6T
How many of the above statements are correct? /
GLoGev 2_0TaT P mIFalc) 6T5% 6w 6oT
Filwmesag?
[A] Only one/ gpa&vimj oL” (HLD
[B] Only two / @ gesst(h) oL (hLD
[C] All three / eLp@yTmILD
[D] None / e1g|aLb (@)e0emev

TRB

0.47) The Battle of Chausa was a notable military
engagement between .
OFaram Guimg QBGLD @)oo L_uiled
BLBS R GO $55%5 QuramiaLi
Gumgr@Lb.

[A] Aurangzeb and Shah Shuja / Q@eTgmBISFLI
LODDILD @yT G g

[B] Humayun and Sher Shah Suri / @0 LD T} o7
wpmid Coud aur @7

[C] Jahangir and Amar Singh I of Mewar /
@anTEISF wpniLd Goeumfler &yog Fml [

[D] Babur and Rana Sanga / LITLIT LDD LD TTGSTT
FmBl%

0.48) Consider the following famous Indian temples:
ereupid a0 LpD @ BPWS
CH1ale0seaTLl &eresilu)BIEaT:

1. Hazara Rama temple / @up@ I JTLD
Gxmailew

2. Vitthaladeva temple / @938 60 G% e i
Gamailed

3. Chennakeshava temple / G\ Festest CHFau
Gxmailew

How many of the above were built by Vijayanagara
rulers? / GLoGev 2_aTaTeum M6 615560 6ot
QW psr g, Fumeriserted $L L L1 gy?
[A] Only one/ gp&imi oL” (HLD

[B] Only two / @) gesst(®) LoL” (hLD

[C] All three / epaiimiL

[D] None / 61g|ajLD @)c0e»6v

0.49) Consider the following:
Lievreu(meucTeupenmL LiflFedlumIEaT:

1. Damask rose / L_omevd Grmggm
2. Pietra-dura / 19w gr-(®gm
3. Portrait coins / 2 (F@ILILIL . [5TGRTILI B 6T

How many of the above items/features were first
introduced by the Mughal emperors in India? / GroGev
2_GTTOUD WGV 615FEGT (LPH GST(LPS 606V

(LS FHATTE @)5 5 W Tai)eD
ADLpSLILIHSSLILIL L_F)?

[A] Only one/ g@&imi oL" (HLD

[B] Only two / @ gesst(®) LoL” (hLD

P.T.O



[C] All three / eLp@yTm)LD
[D] None / e1g|aLb (@)e0emev

0.50) The emergence of independent kingdoms in the
Deccan, namely Ahmednagar, Bijapur and Golkonda,
was a result of the disintegration of which kingdom?
BEHH TSP 9 %HL0SBSHH, LNgmLiLyd,
CamevGlamesr_m & w Fwm &

Q@ ITERWEIS AT 2 (H6U TGS 6THS

Q@ rTEF WSS T Flew s aileste?

[A] Vijayanagara Kingdom / @9lgowi b5 7
FTLOFTEOWILD

[B] Bahmani Kingdom / Liaip Loest) (@) gréd&uiLd
[C] Maratha Kingdom / LogmL 19wl FTLOTTSIWILD
[D] Pallava Kingdom / LIGOGVGU FITLDTTSIWILD

0.51) Consider the following statements:
L968T6U (B LD Fo D MIFHEHAT LIfFeS) U IS VT:

1. Raziya Sultana was the granddaughter of
Qutbuddin Aibak. / J&IWT &GOS TST &3 LIS S 6vT
@Lg geaigseier GugLilierenan.

2. Raziya Sultana is the first known female Muslim
ruler of South Asia. / ©)% 6T P W TOIGIT (LPF GV
©L1ewT (LpaveSILd &y L Pwimargnss
QPWLILIL L euF FRWT FHeOS TG,

3. Rudrama Devi of the Kakatiya dynasty and
Raziya Sultana maintained diplomatic relations. /
FM5SFW ULDFSEB 6T (K% Tom G el LommiLd
TEWIT FGOS TGTT KIS TH 2D 615 6N 6T
LITTLD J S S GOT .

Which one is correct? 61&| Fiflwimesis)?

[A] Only one / @&tmy 1oL (H)LD

[B] Only two / @)ressi() Lo (h)LD

[C] All three / eLpeyTm]LD

[D] None / e1g|aLb (@)eemev

0.52) Consider the following pairs:

LesteupLd @)ewentsenar LiflFedlumisar:
Medieval Indian dynasty — Present region /
@enL_Gsrev @QBEPW euLdFLD — SpHCLITEDS W
LGS

1. Vaghela dynasty : Tamil Nadu / a@1G8%evr
QULDFLD : SLONPBT(h)

TRB

2. Gahadavala dynasty : Karnataka /
FHUDS U TGT QULDFLD * HFBTL_HT
3. Solanki dynasty : Gujarat / GFmevmi%)

QULDFLD : HEQTTH

Which one is correct? / 61&| FHW mesTg)?
[A] Only one / @&stmy oL (h)LD

[B] Only two / @) gesst(®) LoL” (h)LD

[C] All three / eLp@yTmiLD

[D] None / 61g|ajLD @)60e»6V

0.53) Who among the following rulers of medieval

Gujarat surrendered Daman to the Portuguese?
Q@enL_GFTV HETTS HIFIH6TN6 Wl

L renest CUTIFHEFIS65% S QRLILIGHL BTG

[A] Sultan of Malwa / LoTe)6UT F6VS TGST

[B] Sultan of Bijapur / 15890 60 meur

[C] Muhammad Shah / (Lp& LD &xyT

[D] Shah of Gujarat / $g013% P T a1

0.54) Who among these medieval Indian rulers
composed the Telugu masterpiece "Amuktamalyada"?
Qe Gas1ev @QBHW L Fwrerisefed wrg
" (LPSSLOTOWST" 6Ten LD L% L0 LIDD

OB aIEIG LeoL_LieoL QuipmleTy?

[A] Krishnadeva Raya / &) ayesst G eu gmus i

[B] Amoghavarsha I/ Gonseugeyur I

[C] Mihira Bhoja / 10lanly GrLimgom

[D] Maharana Pratap / 1o&mgmesstm L97%mL

0.55) With reference to the history of Sufism in India,
consider the following statements:

@) BFwralled ool LoILIGT TV TH M
&(15%B60 0% mes1(h) LNGET6U (HLD Fo /D M) HEHGIT
L1 G5l uy m1%aT:

1. Sufism originated and developed in the Indian
subcontinent.

@00 LFLD QBB B HCTH BTG F) O

Ca ey aueridd ClLDmS.
2. The Nagshbandiya order was introduced in
India after Babur’s invasion.

uruflesT e LGB LIS @ LT LT
papLEBUT 7 GEBunafe
9D (LPFLD TGHT ).

Which one is correct? / 61%] FHW TesT|?

P.T.O



[A] 1 only/ 1 tor" @b

[B] 2only/2 1oL

[C] Both I and 2/ 1 toppith 2 @ oam@Ld
[D] Neither I nor 2/ 1 9je0avg] 2 96060

0.56) With reference to agrarian reforms of medieval
India, consider the following statements:
BBHSST5M6v @) B wnailer Geuarmesst

Fi% (S SmIFe®ATL] LIHMILT L9686 (15LD
FnDMIFe® AT LIfFe5)um1%6ir:

1. Loans were advanced to farmers by the state. /
aeusFmuils@ns @ 215 LT aULpEIGIG).

2. Farmers were permitted to secure loans to
repay debts. / @ileuFTuIS 6T LIGH LPWI &1_cHET
D&% LB W FL_c31 GLIp
QQILOFSHHLILIL L GT].

3. Alauddin Khalji increased revenue collection by
appointing intermediaries. / {0 Tay &6 Hlev@s]

@ L_Fsas5iHmaT BWILOSH ) 61 FHe e
2B S HSS 0.

Which one is correct? / 61%| FHWTesIg|?

[A] Only one / @&stmy 1oL (h)LD

[B] Only two / @) gesst(B) LoL”(h)LD

[C] All three / eLp@vTmiLD

[D] None / 615|aLD @)60e»6V

0.57) According to ancient Indian literature, select the
correct pairs.

LessTen LW @Q)bS W Q)evE e s FlerrLiLg,
FRlwrer Gemgsemar Czik 6% 550 Lb.

1. Tolkappiyam — Grammar / @& me0& mLILwiLD
- @)evaHewnTLD

2. Mahabhashya — Ethics / L& TLITO@WILD —
Gl

3. Silappadikaram — Tamil Ramayana /
FeviLGFTILd — SLOH (@) FTLD TWERTLD

4. Mattavilasa Prahasanam — Satire /
105GV TF LI TOUDFGTLD — 6 b WL TGSSTLY.

[A] 1 and 2 only / 1 LopmiLd 2 1oL (HILD

[B] 2 and 3 only /2 LompmyLd 3 1oL (HILD

[C] 3 and 4 only /3 LopmILd 4 LOL" (HILD

[D] 1 and 4 only /1 opmiLd 4 1oL" (hLD

TRB

0.58) Varaha sculptures:

QUITQD T F)D LIMKISHGT:

1. Udayagiri & Khandagiri, Odisha / 2 Suwi@)f),
50 - iy

2. Eran, Madhya Pradesh / 6T7mest —

S FwLNgGHFLH

3. Mamallapuram, Tamil Nadu / LomLoeOeVL|TLD
~ SLOPBTH

4. Aihole, Karnataka / @9Gammed — SHBIL_%T
Which one is correct? / 61%] FHW Tesg|?

[A] I and 2 only / I opmyih 2 tor” )LD

[B] 1 and 3 only /1 opmiLd 3 1oL"(hLD

[C] 2,3and 4 0only/2, 3 opmjid 4 1oL (HLD

[D] 1,2, 3 and 4/ 9je06sTH S| LD

0.59) Dynasties with capitals in Karnataka :
SIBTL_5S% 60 S6eVBHILD O)&TesTL

QULDFBIFGT:

1. Rashirakuta / eyl 7o L
2. Hoysala / @aw muiFmarg

3. Kadamba / &1L_LDLIT

4. Satavahana / F153 61T 68T
5. Tkshvaku / (@)= a T,

Which one is correct? / 61%] FHW TesTg|?
[A] Only one / @&stmy 1oL (h)LD

[B] Only two / @) gesst(®) LoL” (hLD

[C] Only three / eLpestmy LoL” (h)LD

[D] Only four / Brest@ oL (HLD

0.60) In ancient India, the practice of worshipping
dead rulers was first adopted by

LeTen LW @) BH W T QD bS 9 TFI%Hear
ULPLIBLD LIPSFFHDS (LpSedled
LesTLpPlw e iser

[A] Mauryas / @ oerflwig

[B] Kushans / & ey messti

[C] Guptas / GLIGT

[D] Satavahanas / F13% 6\ TQUD ST

0.61) Consider the following statements:
Liesreu(BLd HYWIFemEHeTLl LIfIFeSSSHe LD:
I: Indo-Roman trade witnessed exponential growth
during the Ist century CE./ &).19. 191D

P.T.O



HIPp ety ed @)5CHT-Camio eumewtLiLd

L) &HbD QUATTFF) HGSTL_Z).

11: Satavahana rulers were the first to introduce
shipbuilding, ports, and warehouses in ancient India. /
LieTen LW @) BHWTaed HLILIG S (HF6D,
BIOD(LPFHBISGT LOHMILD F)L_[51FHF e AT

D (LpSLILIHS B (LpF 6D L P TTIS 6T
FI1S 6L TQUD GSTI & 6.

Which is correct? / 61&| FHw mestd)?

[A] Both I and II correct & II explains I /1 opmjLd 11
@ ot hLd Fifl & 111 @ flensGF g

[B] Both I and II correct but Il not explanation /1
wpmid I @)oesst®Ld &), 9y, e51m60 11 flenssLH
@Q)evemev.

[C] I correct, Il incorrect /1 Fifl, 11 SaUm].

[D] Iincorrect, Il correct / I Soumy, I &)

0.62) With reference to cultural history of India,
‘Apabhramsha’ refers to:

Q@) BTN GT FVTFFTT 6 T6VTH M6V,
“YULITLOey” &mSGLD OLIThaT:

[A] Cremation practice among royals / 9| JF
GOLLS @)(hbS SHEILD (LPGHD

[B] Different versions of Prakrit language / L907%) (15
O oMU T LIGV QLg eEISET

[C] Group of people in Kalidasa’s plays / & a1l m&est
BIL_BI&HaN6) QU(BHLD LDSHFET & (Lp

[D] Type of property tax / Q\Fng&g ol aueHs

0.63) Consider the following statements:

LiesreupLd yWlGenaEsearL LiflFedssa Lb:

I: Pillar inscriptions & rock edicts of Ashoka were
erected to propagate Buddhism. / | GF1%flesT Sresst
S0 UL BHS6T LOPMILD SDHLIGVHSEGT
CLTESFHMSLI LITLILIQISDH TS
OIGHLDSBBLILIL L GOT.

1I: The main objective of Ashoka’s dhamma was to
regulate social order. / 9| GF1%flesT “HLOLOT”

O metensuller Lps&w CrrssLd Feps
RUPEINS HL_(HLILI(H DSBS TG LD.

Which is correct? / 61&] FHWTeSTS)?

[A] Both I & II correct, I explains I/ @) gesst(p)Ld &,
11— 153 185 LD

[B] Both I & II correct but Il not explanation /

TRB

Q@ et R Fifl, gy, es160 11 — 155G ilenssLd
9JGUGV

[C] I correct, Il incorrect /I oL" (LD &)

[D] I incorrect, II correct /I Soumy, Il oL (H)Ld F1)

0.64) “Originally a Buddhist cave, later converted into
Shaivite temple. Portuguese defaced sculptures and
made it a church (called Mont Perir). Identify.”
"SIV QR LISS &5, LIGHTesTT enFaer
Carallevns LoapmLiil’ L g,.
CuUTisgIEF W iser FpLIBISE® T Fenss ]
9ems @5 Capaumevwons (Gromewrr” OLifl
GTGITMY W LPSHHLILIL L GSTL) LDTH M) eI

GO L_WITATLD & TGSTeYLD. "

[A] Kanheri Cave / s1Gevtif]l & e

[B] Elephanta Cave / 610)ev LIGSTL_IT %60 %

[C] Lomas Rishi Cave / Govrmomav flafl &eos
[D] Mandapeshwar Cave / oesst_GLIayou T &e9%

0.65) ‘Basadis’ and ‘Derasar’ are terms related to
which sect?

LIFT@S6T LopmILD 'CHITF[' 6TGITLIG) 6THS L
9feyL_er QOsm_jLeoL_w QFapsar?

[A] Jainism / FLDGwSTLD

[B] Buddhism / QLieT& S LD

[C] Vaishnavism / ¢ 6GssTa LD

[D] Shaktism / 3510

0.66) Consider the following pairs (Site — Importance):
LesteupLd Ceomiy &en6nsd &6 sl mI%aT (SaTLh -
(LPEB WS QILD):

1. Muziris : Buddhist pilgrimage site / (Lp@ flard —
CueaTgs wrgPewns SeTLd
2. Ratnagiri : Pre-historic geoglyphs / 7%e1%) )

- Yyiousne Laild FmLisiser

3. Chaukhandi : Port of Sangam Age /

O FTHEITLY. — FBISH TGV &GO D (LPSHLD

How many are correct? / 61%% W GoT FLJ) WL TGST6H 67
[A] Only one / @&stm oL (H)LD

[B] Only two / @ gesst(p) LoL" (h)LD

[C] All three / eLpe@Tm)LD

[D] None / 615|aLb (@)e0emev

P.T.O



0.67) Which of the following sites in India are known
for mural paintings?

@ BPwrailed 6TBS &6TEISaT Feu
RINWIEIE@HSHTH LI TLIGOLD TESTe 6u?

1. Khajuraho Group of Monuments /

F23° JTGQUD IT [5]69 68T 6L & &) GVTGUT 51 % 6T

2. Ravan Chhaya Rock Shelter / greviesst Fmuim
LITEDDS &L enF

3. Jogimara Caves / G@a@)IDTIT &6935% 6T
4. Ajanta Caves / |@ bS5 T &S5 6T

[A] 1 and 4 only / 1 LopmiLd 4 oL” HILD

[B] 1,2and 4 only/ 1, 2 opmiLd 4 LoL" (LD

[C] 1, 2and 3 only/ 1,2 opmyLd 3 LoL” (LD

[D] 2, 3 and 4 only /2, 3 LopmILD 4 oL (HILD

0.68) Significance of Maski Inscription in ancient
India?

LiGTen LW @) BH W Taded “LoTed &)

0L 19T (LFSP WS G LD?

[A] Contains the name “Ashoka” instead of “Devanam
Piyadassi” / “Ggeuprid Lwuged)” e1eTLISM G LI
LSevns “CFrsdler” OLwg o aTerg

[B] Shows prevalence of Vedic rituals in Deccan /
S5 TS F 0 Cousd FL_EIGHSH6T () (BB
CTRTLIGHSS HTL_(HF DG/

[C] Mentions Sudarshan lake built by Pushyagupta /
ey W@GLIST L 19 W F&Fu6T eIfen i

GO RED S

[D] Confirms Chola descent from Sangam Cholas /
Carpiser FrissTe CFTLD TSN GT FBSS) T8
2 NISLILGSHS DS

0.69) What was "faience" often used for in ancient
India?

LIGwTew L @)BHWTaI6) “o%eh LI esTaD
QUIEBLLLITRILD GTSDH TS
LWTU(HSSLILIL L G)|?

[A] Make beads and bangles / Lpessfl%6iT LOD MJLD
QUGHOTUWIGVSGT O\ FUIw

[B] Make iron equipment / (Q)(HLOL| 2_LI% TGSTBI% @
Qauiuws

[C] Segregate urban areas / B&ILI LIS SHGTLI
bEES

TRB

[D] Make silver coins / G)aueien) [5TessTw B1% T
ClFuiw

0.70) “Exports of pepper (from one region), pearls,
ivory, silk, precious stones, diamonds, sapphires,
tortoise shell.” Which place is described?

(@ UGS BB LB, (LpSSISHaT,
B, UL (), fleweujuips SDH%HET,
®UIEISHAT, HVSHH, e»LD 63 (b

G wepplar THmIn." 6TpS @)L Lb
afleuflsFLILIL (heTerg)?

[A] Bengal / 6\1®1&TeTLD

[B] Coromandel Coast /GFTLpLOGSTL 6V HL_HEHeDT
[C] Malabar / LoeoLimF

[D] Gulf of Khambhat / &moGLI euewar@L_im

0.71) Evidence at Indus Valley Civilization sites
includes:

Fpg FLo6leual FTsH% %eTmiISaled
SETHLINGSSLILIL L co6u:

1. Seals with swastika symbol / &aie H&HF
FlesresLd OFIewTL (Lo P 6w 76T

2. Ivory decorations / WTewGsT 6TGYILDL]

9 GUBIGTILD

3 Gold ornaments / OLITGST (56 6iT

4. Cinnabar-based cosmetics / & esTTLIT NG
FITS GO BIF AT

5. Iron swords / @)(BLOL| QUTGTSGT

Select the correct one: / FHWTTDSS
Csip0ls HSsa L.

[A] 1 and 5 only /1 LopmiLd 5 oL” (hILD

[B] 3 and 4 only /3 LopmyLd 4 oL (HLD

[C] 1,2, 3and 4 only/1, 2, 3 opmith 4 oL BLb
[D] 1, 2, 3, 4and 5/ e85 G| LD

Q.72) Which one of the following statements is correct
about Queen Ahilyabai Holkar of Indore?
@ parfer prestl o Feowmumus Gamreds i
&DB G LlesTouheuaTaupmled 615 FAlwimesig)?
[A] She was the daughter of a Maratha Peshwa. /
ey ogns@uwi GLeyamTailesr Lb&aT.
[B] She was married to a Mughal nobleman. / 9j&i1F
R (LPHGTW LYW TF(5DF B (HLOGRTLD
9, GOTITH.
P.T.O



[C] She is remembered as a benevolent ruler and
builder of temples and dharmashalas. / 9j&i1F

% (156 GRTW ATAT YL FNITOTTTH G LD,
C&1ale0F 6T LoPMILD STLOFTEH GV GIT
SLIQUUTTELD [BeO6sTaFo TLILI (DS D TH.
[D] She was defeated by the British in the Battle of
Buxar. / L1&Fg Guimfled yeud L9919 apmrmed
CHMDH19SHHLILIL LT[

Q.73) With reference to the cultural history of India, the
terms ‘medhi’ and ‘yashti’ are related to

@ pFPwneilet uesTLTL (B upevIHEDF
Fmipgl, ‘GG LopmILd WekLy’ 6TGTLIGH G
Q& TL_JLje»L_we»eu :

[A] Classification of land / Blev evewLILIT()

[B] Taxation / auflai@)LiLy

[C] Megalithic burials / ©)L1fwi% 606V 60 DS 6iT
[D] Stupa architecture / GVGTIS FL LY L_&FHHGV

0.74) Consider the following pairs (Painting—State):
Lesteupd Ceomiy senersd &aiesilu)misar

(@il Lb—Blenev):

1. Pattachitra — Odisha/ UL L_EFSTT— @Ly.FT
2. Patua — Andhra Pradesh/ Li(peum— 4, 6F L
L97CsFLD

3. Warli — Maharashtra/ aumied) —

LD TITTOHLY TT

4. Manjusha — Himachal Pradesh / 10 @h%Fegm —
amliordFeLl L9gGsFLd

Which of the pairs given above is/are correctly
matched?/ L9eteuLd  Ggomig senarLi
Lf&FNFEa LD (@ailwio-Lomplevid): GroGev
QsrRSsLILIL BHeTar CemyFalle) 61a)/6Ten e
Filwmesag?

[A] 1 and 2 only / 1 LopmiLd 2 oL (HILD

[B] 1 only/1 ot”(HLd

[C] 2 and 3 only /2 opmiLd 3 oL (HILD

[D] 1, 2and 3 only /1, 2 Lopmitd 3 LoL” (hLD

Q.75) With reference to the cultural history of India,

‘shabdam’, ‘padam’ and ‘varnam’ are

TRB

@ pFwrailer LesTLTL (B ugeTnHHleD,
‘FUISLD', ‘LML_LD’, ‘QUFGCSTLD GTGTLIGH G

[A] Elements of Bharatnatyam performance /
LISBIL 19 W BSLHFRUNGT Fom S0

[B] Traditions of Stupa construction / o0GTLI%
&L (b LD TGS LDTL|% GIT

[C] Classification of folk theatres / bTL_(H& IS Sl
QUGN SHF AT

[D] Music used in folk dances / L (HLILID
BL_GTEIS6N6D (Q)ensF

0.76) Consider the following pairs (Work—Author):
LiesTeu B Ld (Q)ewenT HenarLl LiflFeS)Esa b
(@) v wiLb—2,F) il g):

1. Vikramanka devacharita — Bilhana /

Qg gommI%E CHeusFflgLd — 60 amestT

2. Mushika Vamsha — Sandhyakara Nandi /
(LpefS QULOFT— FHSWASTT BbS)

3. Rajatarangini — Kalhana / 71g0% 111%) cwet] —
&GO QUD GSTIT

4. Ramacharita — Atula / @ omoFflg b —

QY BIGVIT

How many are correct? / 61%% 60 68T FIfIWL TGST6H a1?
[A] Only one / @&stmy 1oL (h)LD

[B] Only two / @) gesst(B) LoL” (hLD

[C] Only three / eLpestmy LoL” (h)LD

[D] All four / prer@ L0

0Q.77) With reference to prehistoric rock paintings in
India, consider the following statements:
Q@ BpFwreiler LiessTenL_w LiTenm
RINWIBIF TS FTTBSG LNGOTo (HLD
FnDMIFHHGTLI LIJFeS)FE e LD:
1. The paintings of the Upper Palaeolithic phase
are linear representations, in green and dark red, of
huge animal figures. / GLOG) LILpBI%H M % T6V
W mEISaT LFeF LOPWILD YLHBS FauLifed
Quiw alevmiGsafer CriGasr . (HL
05 BB S] 0 Bl %6
2. The largest number of paintings belongs to the
Mesolithic period where themes multiply but the
paintings are smaller in size. / LO1& 9 B%
RINUBIFT 5 (DSBS TS HDHTVSHDHF

P.T.O



Caipsenal,; &HLI0LITIHGTSGT B HLDTS

@ BBSTRILD eailwiEiSer Fplw 9 erailed

2 _QTRTGYT.

3. During the Chalcolithic period, vividness and
vitality became more prominent than earlier periods. /
2 Counsd $PHTevs P @@ILIBIEET (LPBHWS L
FTBIEHETS STL 19 @YILD & U FLILJL 68T LDPMLD
Ogafleuns &mewrLiLiL L e

How many are correct? 613606 FfIUWITGST6H 61?7
[A] 1 and 2 only / 1 LopmyLd 2 1oL (HILD

[B] 1 only/1 o”(pLd

[C] 2 and 3 only /2 opmiLd 3 oL (HILD

/D] 1,2and3/1,2 opmyih 3

0.78) Consider the following pairs (Folk Dance—State):
LeteupLd @) ementsenarti LiflFedlssaLd
(BT 19 W Q19 QILD—LDTBIGULD):

1. Garba — Gujarat / $FLIT— $gQITS

2. Kalbelia — Rajasthan / %60 GLieSwim —
T8I VS TGS

3. Ghoomar — Uttar Pradesh / @LbLog —
2 35717 L97C8sFLD
4. Thang Ta — Assam / STl L_T— OFTLD

How many are correct? / 618 %60 68T Fifl Wl Te5T60 61?7
[A] Only one / @&stmy 1oL (h)LD

[B] Only two / @)gesst() LoL" (h)LD

[C] Only three / eLpestmy LoL” (h)LD

[D] All four / BreT@LD

0.79) Consider the following statements regarding the
different sects of Buddhism:

OLeT558 % 6 OouaGaum) FepsmIFHeaTL
LpPw L96TeU(BLD FonfD DIFHEO AT & (15D S0

& maTereLb:

1. Hinayana Buddhism is the orthodox school of
Buddhism that does not believe in idol worship. /
anflesrwimert GLIengSLd FPmipTL_mest O)LITSS
LG LI LIGTONWTGHLD, @)&I LILYLDLT Ljeheen Ll
[BLDOLIT.

2. The Mahayana scholars predominantly used
Pali language. / Loap muinestT GLIGTSS

W @pisaer O LBLOLITeILD Limef Glomiflenw
LIwGTL (h S B 6T

TRB

3. Emperor Ashoka patronized the Mahayana sect.
/ Gupgai 9 CFTHET LOQD TWITGSTT FOLP DSOS
2ASISS L.

4. Theravada Buddhism believes in six perfections
or paramitas. / GHgeunsm QLIGTSSLD m)
(LP(LPEWLDEH AT 9GO G LITLOIL _Te L5G)
BLOLIS®F HUEF D).

[A] Only one is correct/ &I LOL-(RILD &)

[B] Only two is correct/ @uesst(h) LoL"(HLD &Fif)

[C] Only three is correct / eLpeST LOL-(RILD &FIF)

[D] All are correct/ BAGSTIEGHLD Fif)

0.80) Consider the following statements:

LIGTQUIBLD FnDMIFEGIT H(5HB 0 ClHTaTATRLD:
1. Odantapuri and Vikramshila were ancient
Indian learning centres constructed under the
patronage of the rulers of the Pala dynasty. /

RL S LoPpmILd aIETLOEET LITey QULHF

9 TF[ %GNG Y FTL_GT & (BeUTHHLILIL L
LIGTew L1 @)BSW He0aT] 69 LDWIBIS 6.

2. Invasions of Muhammad bin Bakhtiyar Khalji, a
ruler of the Khalji dynasty of medieval India, severely
damaged the establishments at Vikramshila and
Nalanda. / 108w mev @)bF W TS Hevgd)
QULDF QY JFT (Lp@DLOLDG) LIGT LISFWITT HTe0@))
2 SF IO % 6T @)% TLO @6V T LopmILD
BIVBST 606 BN 6UGTEI% @SS O)LIHLD
Cosd aTpLIBSF WS

Which one is correct? 61&| FflwImesid)?

[A] 1 only/1 o”(HLD

[B] 2only/2 1oL”_(pLD

[C] Both 1 and 2/ 1 1opmiLd 2 (@) gesst(B)LD

[D] Neither I nor 2/ 1 9je0ag| 2 9606V

0.81) Consider the following statements regarding the
famous sculpture of Seated Buddha from Sarnath:
FITERTTSH 60 2_6iTar LHLHOILIDD SYLDIbS
UsS0 ApLsens L Lpmlw LiesTeuLd
FnDMIFHE 6T & (5% FH 60 O\FTaTaT6 LD:

1. Buddha is shown seated on a throne in the
padmasana. / LSS T LIS LDTFGTSF) 60
FUDOLDTFGSIS F) GO LD B S| GTGTTL.

2. It represents the event of Buddha attaining
enlightenment at Bodh Gaya. / Q)& LSS0

P.T.O



LSSHWTIGD G5 TGITLD L BSOS

GBEE DI

3. The sculpture belongs to the Kushan period. /
Q@)B5F ADLILD &ewTesT $Tevsengsd CFibS S/
Which one is correct? 61| FHwmesig|?

[A] Only one / @&stmy oL (H)LD

[B] Only two / @)gesst() LoL” (h)LD

[C] All three / eLp&yTmILD

[D] None / 61g|aLD @)60e»6V

0.82) With reference to the history of Indian rock-cut
architecture, consider the following statements.
@BIPW YFWS FH6 HL 19 1_FHen6V
gD LI LIDBIW LNGTeU(HLD Fo DM GIT
LINGS)FFaLD:

1. The caves at Bhimbetka are the oldest known
surviving rock-cut caves in India. / 190 GLi” &
GSSHAT @)BFNLITAIGHT LILDEH LD I TG 9% eSS
H6V (&HHHH .

2. The Barabar rock-cut caves were originally
made for Ajivikas by Emperor Asoka. / LITgLITF
G®FH6T I CFTEHTTD 9 25N% 15 @h%HTH
SLL_LILL L 69l

3. Kailashnath temple at Ellora, built in Vesara
style, combines Nagara and Dravidian traditions. /
TC@evmym ewsevnapisg Cxralled Geugym

QL @IV, BASIT-FITTAIL_ LOTL|HEHGT

Q@) enTEFmI).

Which of the above statements are correct? /
GLODHGHTL_ oD MIF TGV 6T @ Fifl W TETe® 61?2
[A] 1 and 2 only /1 opmyLH 2 toL” (H)LD &)

[B] 2 and 3 only /2 LopmyLd 3 oL” RILD F1)

[C] I and 3 only /1 Lo@pmitd 3 LoL" (HILDd Fifl

[D] None of the above / GLoGevweiTer 675y LD

@ aenev

0.83) With reference to Saka samvat or Saka era,
consider the following statements:

FHT FLOOUS GOV F&HT UFSHEOSLI LID ML
LI e8Teu (BLD Fon D MIFEGT LIfIFSIBSH e LD:

1. Saka samvat has 365 days in a year. / F&IT
U FSD 6V (15 H,ewT(H 365 BT FHaT.
2. New year in the Saka samvat begins on 22nd

March in every non-leap year. / leap (@)e0evrs
TRB

2T (H SN GO FHT WL LSS TeT(h) LOTFSF 22
9T OGS TL_B1&HH D S).

[A] Only 1 is correct/ 1 oL (pLD &)

[B] Only 2 is correct /2 1oL (p)LD &)

[C] Both 1 and 2 are correct / 1 LopmjLD 2

Qe ()LD Fif

[D] Neither 1 nor 2 are correct/ 1 9Je0av%] 2

@) pesT (R D Fiflwedev.

0.84) With reference to the cultural history of India,
which one among the following was built the earliest?
@) BHW HeTEFTT 61 gevTHHl6D,
BLHSHTL_UDDI6 615 (LpFeSlev
SLL LI L &7

[A] Kailash temple at Ellora / et@Gevmgm
®FVTFBTHT GFmaIeD

[B] Chennakeshava temple at Belur / Q) Liguri
CgaraTCsgait Gz mallew

[C] Shore temple at Mahabalipuram / L0 TLIGS) L TLD
sL_paer CHraled

[D] Iron pillar at Mehrauli / Q)oab gred) @) (pLdL|S

SITGHST

0.85) With reference to ancient Indian history, consider
the following pairs:

@BFWLT LLpEISTeV QUFeTDBIed LI68Teu (LD
Ceomg semarti LiIfFelEsaLb:

1. Harappan civilization — Spoked wheels /
QDILILIT BISHSLD — FESTMISET O TewTL_
FSHSHTLD

2. Rig Vedic period — Fire cult / 1% Goug
HMeVLD — %evt) auSlLim(p

3. Mauryan Period — Northern Black Polished
Ware / QLoerflid $aevLd — L& @& Ll LM mI@L
LITS S TLH

How many of the above are correctly matched? /
@mausalled e1ggemest Fflwimest ClLITHSHLO?
[A] Only one / @&stmy 1oL (h)LD

[B] Only two / @ gesst(®) LoL” (hLD

[C] All three / eLpeyTmiLD

[D] None of the pair is correct / 6158 Ggomiq ujLd
FIW TS () 0emev.

P.T.O



0.86) Which of the following reasons were chiefly
responsible for the decline of Buddhism in India?

@ pHwraded ClLaTss L0FS DT I LHFFS G
(LPSHBWI & TTGSSTIBISGIT 6TCH 6L ?

1. Reform and revival of Brahmanism / L9 7TLDGssT
FLOWS BT FgewioLiL) LopmiLd LG LIy

2. Continued use of Pali language and not
adopting Sanskrit / LiTeS) Glomludlest Qs TL_Fbs
LIWGTLIT(® LopHWILD FLOGVF) (BSLD TS THH]

3. Persecution of Buddhists by rulers / QLIeT$%
LDFSBD & S TFISET QUL BEISI HYFT0

4. Turkish invasions of north India / eur_
@BFPwnailed (5B WITHT o (HeOS

[A] 2 and 3 only /2 LopmyLd 3 LoL” (HILD

[B] 1,2and 4 only/ 1, 2 opmiLd 4 LoL" (LD

[C] 1,3and 4 only/1, 3 opmiLd 4 LoL"(HLD
[D]1,2,3and4/1,2, 3 opmyLd 4

0.87) In the context of ancient Indian history, the term
‘Skandhavaras’ was used to refer

LILPEISTeV Q)BEFW eugewanPled ‘evs ke el TTaD’
TG O)FTGOGV TGV GTGHGT GHMISHLILIL L g

[A] Military camps / LIGOL_ (LPFHTLOS 6T

[B] Royal scribes / 9jg&F & B)LDLI GT(LPS S TETI &G
[C] Followers of Jainism / &FLDGSST LDS S e
LIGTLID M LI TS T

[D] Revenue collectors / auiflev @601 @ LD

2 D& MflFar

0.88) Which among the following literary works talks
about the overthrow of the Nandas by the Mauryas?
OerflwiseT brFisear af psHwensLi
uppll Guad @ewEGwL] LiewL_LiL] 615)?
[A] Mrichchakatika / L) fIFF%19 & T

[B] Dasakumaracharita / $&F@LoagdFfgm

[C] Mudrarakshasa / (Lp& T TITF60 T

[D] Devichandraguptam / G5 &b % 7@ LI LD

0.89) “Established in the 4th century by
Mayursharman, this ancient Indian dynasty gained
control over northern Karnataka and Konkan. They set
up their capital at Vaijayanti, located in the north
Kanara district of Karnataka.” Who are they?

TRB

“@QBS 4L BIDDIGHLYG LOW, T ILO G
BN QULDFLD QUL FFBTL_GT LOMHMILD
Oarmisreticd LB LILT®H OLDDII.
SOBFHENT UL FGTIT DT L_SF6D 2_GiTar
U W BFUNGO 2 HLDSF T . 9 QU [FH 6T WTH?
[A] Satavahanas / &6\ 1% GST[I% 60T

[B] Pallavas / LicOeve [

[C] Vakatakas / @1m&mL_1%J

[D] Kadambas / &1_Lb1L1J

0.90) With reference to 'Thullal’, a classical
performing art of South India, consider the following
statements.

Oserest S w classical TEIFHE FeH6V ‘FOTATED
QB TL_JL96 L9616 (LD FoHMIFHEH AT
LIfESSS @ LD:

1. Thullal is a satirical art form. / &|@TETEV
BEDFFFHE 6L FeHGVILITELD

2. 1t is a classical performing art that originated
in the state of Tamil Nadu. / @&l SLOIHBHTL 19 6
Caremwg

3. The dance form is based on the principles of
Natya Shastra. / B WFTeV F) T8 %) 6o1
Carlumhsefed 9L LiLIenL_wWmELd

4. 1t is a solo performance accompanied by
musical instruments. / (Q)enF5 (6% @V L_6vT
sestipLg oy omGamLy

Which of the above sentences are correct? /
CLopEHeTL QuTEF W BISaT6) 6Ten e

FHW TET6m 617

[A] Only one / @ Fapmi oL (HLD

[B] Only two / @)7&sst(h) Fo. D MI%H AT

[C] Only three / eLp&STI) oD M HGT

[D] All four / presT@LH

0.91) Consider the following women poets of ancient
India:

ULpmETew @QBPw OLiessal &pss)
LIfNFSFF e LD:

1. Lopamudra / GevomLi(psam
2 Apala / jLimevir

3. Avvaiyar / @1e®@IWTH

4 Ghosa / G&megm

P.T.O



How many of the above belonged to the Vedic period? /
CLopsestL_aujsene 6155emer GLig Goug
STFHD @ BES

[A] Only one / @@eud oL (RLD

[B] Only two / @ uewst(p) G

[C] Only three / eLpevimy G

[D] All four / BredeuHLD

0.92) After suppressing the Uprising of 1857, which
among the following cities became the capital of British
India for a day on November 1, 1858?

1857 9y 1b 9y,e81(h) T(LPFFR W 9L_FFw LID S,
LIeTUHLD BHIHIFH6TN6D 6T BauLdbLIF 1, 1858
9eTml G Baar LA 19 oy @)BFw males
SEOGBSITS LOTHIWIG)?

[A] Bombay / LitbLimul

[B] Shimla / aflLbevr

[C] Allahabad / jevmammLITS

[D] Bareilly / L1Gged)

0.93) With reference to the Indian Factory Act, 1881,
consider the following statements:

@BHw Cgmpparenev FL L 1b, 1881

QS T[T LNGT6U(HLD FonDM)IFHEH AT

L1 &S558 %@ LD:

1. The provisions of this legislation didn't extend
to the British-owned tea and coffee plantations. /
L9 19 0% 2 flewio Caullewar/smill

G’ L_mIs5en% @ 6lLmbKsailecvenew

2. It addressed the issue of ensuring equal pay for
equal work for men and women. / 24,5515 @1T-
OLicws @53 G FLo Calemevs @ FLD FLOLIGTLD
QLD MBI (%S 60

Which one is correct? / 618] afﬁ?UJ/ngu?

[A] 1only/I oL (RLD

[B] 2 only /2 ol (HLD

[C] Both 1 and 2/ 1 1opmiLd 2 @) gesst(R)LD

[D] Neither 1 nor 2/ 1,2 61516 606V

0.94) What does the term 'Girmitiyas' refer to in the
context of modern Indian history?

Baiest Q)BFW 6ugevamHBleT @, LpedeD

'S LI WTSHFET 6TTD C1FTEV 6TenS S
GBISHDGI?

TRB

[A] Guerrilla warriors of the 1857 Revolt / 1857
e1(LpF@uilesr Qs mlevevr Gumgrafser

[B] Thugs who waylaid and strangled travellers /
Lwessflaenar OFmenev GlFuig OLimL sar
B b ® Courg

[C] Indian soldiers within the British Indian Army /
AL 1y ey @BHwT L uiled @)BFWisaT
[D] Indentured Indian labourers sent to far-off
plantations / @LILIBS QBB W G TLflevmariser
Cgmemevgr CHmL L ks @Hs G
QISILILILILIL" L GYTJ.

0.95) What was the primary cause behind the Indian
Civil Service agitation led by the Indian Association of
Calcutta in 1877?

1877 9Lb 9,e87(H) HeV5SSH TGS Q)5 w
FBISSSBMCV BL-SFHLILIL L @QBSW &LQeDLDLI
ventwreriser GUrITL L HPGL LeTerTed
@) (BBS (LpS GG LD WI TGS HTTGRTLD GTGITGHT?

[A] Salary discrepancies between British and Indian
officers / L9AIL" 19 &y LoD DILD Q) BB w

D HTH S @55 G (Q)ewL_ulevTest FLOLIGT
(LpIGRTLIT(H S AT

[B] Unfair promotion practices favouring British
officers / L9019 &y Y BSTHS@5%GH FAHHLOTS
@BEG L Flumuopp LS 2 wie)

66 L_(LPG® D % GiT

[C] Lowering the age limit for ICS exam from 21 to 19 /
@.5).e100 GF i85 m68 g e Ll 21-60
QBBSI 19 55 SDDSSE.

[D] Exclusion of women from ICS eligibility /

@.8. 6160 &P ulS)(HBE OlLicsIFHeT aflvs G

0.96) In the context of 18th-century India, what does
the term 'misls' refer to?

1891D BIDDTesTIg o0 'Lilabeded’ eT6sin G)FTeD
TS % GHDSHE DS/

[A] Independent Sikh states confederacies / &uwimL" &)
FSF W LOTH6V FBIS MBI 6T

[B] European trading companies / @GgmLirflws
QUTSSS [0 6L GSTBIS T

[C] Tribal councils in the Deccan / )& &sresi) b wi
LILPBI & LY. FeW LISGT

P.T.O



[D] Mughal administrative divisions / (Lp&ev T
BlieursLl L eysar

0.97) Several significant reforms and actions took
place during Lord William Bentinck's tenure. Which of
the following did not occur?

afleveSlwid Cliesrigmi LgLjaller gL Hg
FMTVSF® LI GPILILIL_F55%

FI%) (5SS BIS@HLD [HL_6VILY P60 FHSE @1 LD
CopGlsmarerLiLiL L6t 1963761 (5 6UeTaUD 1)V
615 BlsLpalledenev?

[A] Abolition of Sati / %) epLflLiL].

[B] Suppression of thugs / & SsTL_[J&e® 6T

9IL_5 BV

[C] Annexation of Mysore to British India / 91D @&
i 19 0 @Q)BFWTeL G 3)enewigsa

[D] Trial of Raja Nand Kumar / grg9m 6% &LOTH
L5 mest )& myen esst

0.98) Which organizations promoting women’s
education and socio-religious reforms were founded by
Ramabai Saraswati in the late 19th century?

19 91D HIDHD TesTLY & L9 LGB U6 FLomLImul
FIeveUF W TeO O)LIGST S60af) LoPmILD FeLps-LDS
FIP) (555 5156 6T 2615 %% GHLD 6THS
QGMLDLILSGT BIMIULILIL L GsT?

1. Arya Mahila Samaj / 4,0 L0&)6OT FLOTED
2. Sharada Sadan / @umISH T FH6sT

3. Sakhi Samiti / %) FLO1)

[A] 1 only/1 ol (HLD

[B] 1 and 2 only /1 LopmiLd 2

[C] 2 and 3 only /2 LopmILb 3

[D]1,2and 3/ 1,2 wpmith 3

0.99) The main objective of the General Service
Enlistment Act, 1856, was:

1856 9y1b 3y ew719 681 OlLinG) Falled FL L g Fewr
pISH W CHrsHLD:

[A] To empower the provinces to recruit members to
their own military force. / LDTS% TGSSTBI% @5 )
SEIGET @) ITEI e LIeHL_eni BlILOSS

AP HTILD NS5

[B] To mandate the recruits of the Bengal Army to

serve anywhere their services were required. /

TRB

CLBIFTD LiewL_uilesT (B3 @) 6165 QL FFeYILd
Gaevau Geuiw s 1L mwiL®SSwg)

[C] To legally mandate the British Government to
provide minimum wages to the recruits of the British
Indian Army for serving overseas. / L9019 ey
@BPwr e uieren g GleualpT(R% a6
vesslwaPms S L mulini®gSwug)

[D] None of the above / GLoGev gnplwieummled
61&| QLD 9GVGV

0.100) Which colonial administrator funded and
encouraged the translation of the 'Gentoo Code'?
'Oleer(® @IS 1g 61 Q) om O LwigLienL

BB wellg g 2 @GHalss sTevelSs 6 Bliens
wmg?

[A] Lord Cornwallis / emiL” &miesreumadlet

[B] Sir John Shore / &ij @ mest Gogmi

[C] William Bentinck / @fle0aSuiLd G)Licsrig mig%

[D] Warren Hastings / aumgest Gaup e 1g s1610

Q.101) The French East India Company had
settlements in which of the following places?
190 r6ha FpsE& BPw %LH6) e LesTeu L
615 Q)L EIFHaned &Ly CuwpmEi%enars

Ol TeuiTLg (B p5S?

1. Mahe / orGam

2. Chandronagor / 5% I BT 1
3. Karaikal / %169 75360

4. Yanam / wrestLD

[A] Only one/ 1 oL”(pLD
[B] Only two /2 1oL”"_ ()LD
[C] Only three / 3 1oL ()LD
[D] All four / brewT@ L0

0.102) With reference to the Portuguese administration
in India, consider the following statements:

@ pFwrailed CUTigsSFw BliearssansL
L), LNGTeUBLD Fon D M)IFEH TS F 6L GO B GIT:
1. Initial settlements were mainly on the eastern
coast / QILOLISTeV &L SWpmEIEaT
LPSHWILDTS FLPSF SL_DHe» Tulled () (1555 6T
2. Afonso de Albuquerque captured Goa from the
Mughal Empire in 1510/ 1510 915 2},657(h)

P.T.O



wpsevmwLl Cugr@L 0 pg CHmemene

9 CunerGam 19 960 C&T8 ewaLiLIm ey,
JA] 1 only /I 1or" (Lb

[B] 2only/2 1oL

[C] Both 1 and 2/ 1 LopmiLd 2 @) gesst(p)LD

[D] Neither I nor 2/ 1,2 61%10LD 606V

0Q.103) With reference to the Wood’s Despatch,
consider the following statements:

L ab O ebum’ & Qsm_gLns, LereupLd
FnDMIFHCH TS &G LI T:

1. Education in government institutions should be
secular / 9)0F LIOTef S 660 LOFFFTTLIDMD
sevailenw Ll LIfBSID IS5

2. Vernacular and English recommended for
elementary education / QLD LI He0ails G 2 _aTears
Qomfl ppid HESS®S LfFSI®ISSSI
3. Grants-in-aid recommended to encourage
educational enterprises / $60@I) [5]M] 611 GST 515 6 GIT
LR EACINEL FAAMEIN]

[A] Only one/ 1 1oL” (LD

[B] Only two /2 1oL ()LD

[C] All three / eLp@yTmILD

[D] None / 61&|@LD 9606V

0.104) Consider the following statements:
LIGETQU (5 LD Fon D )] FGHGTS & 6L GBI WL 515 GT:

I: Portuguese followed lenient policies towards Indians.

/ QuridFHgseN et O Lo6sTe Lo TesT O)%TeTen s
11 Portuguese power declined by 1600s due to lack of
support from Indian kings / (9)B%W LDGST6wT [ 61T 68T
2B TGTEO LD & TTGSTLD TS
CuridaGFRwisem et 9 FsTd 1600 Fefed
ST

[A] Both correct & II explains I/ @) pesst Q)b Fif) & 11
QI THHLD

[B] Both correct but II does not explain I/ (@) gesst(p)LD
& 16D I @& LD 2Y6V6V

[C] I correct, Il incorrect /I &if), 1l Soumy

[D] I incorrect, II correct /I oumy, Il Fif)

Q.105) The Vernacular Press Act of 1878 authorized
confiscation of seditious newspapers. Why was
‘Mahratta’ not confiscated?

TRB

1878 oy1b gy ew1(R MG ML) LISF flensd
gL 1 1b C3555/071% OFUIBS S TaTH®TLI
uplpsed OFuiw omIGHTILD oS55I

LAV IS eTeT LIBl(LpSeD
QeuiwLiLi_aflevenev?

[A] Only applicable to newspapers started by non-
Indians / Q) B@wiserTed O&TL_B1%TS
LSS N ES @5 G

[B] Mahratta was not considered pan-Indian by British
/ oang S renal 2),m% G isaer 9 Few @)n5H W
QULDFS B GTITSS &(1HS @I 60 6H 6.

[C] Published mainly in English / ©)L1(BLDLITGYILD
9BI&H s S0 Gleualuil i’ L g

[D] Not applicable to newspapers founded before 1878
/1878 &@& (Lp&TL Blmieuiiiil’ L

O FUIBDG S MeiTF @55 G LI OlLIT(IBBS TS,

0.106) With reference to the English East India
Company, consider the following statements:
<Gl Glips @ @) BHIW BlnIeueTSmSLI
LpWILT 96T HLD FnPmIFHeaT LIFGaS)S% 6 LD:
1. Captain William Hawkins arrived in India in
1609 and established the first English factory in Surat. /
GaLiL_ewr afleveSlwd anrFlested 160960
QBIWTe S apSl GHISFD (LpHe Y, mIFIew
OsmflpFreoev Blmiailemy

2. Since the British King had a matrimonial
alliance with Portugal's royal family, they did not
oppose the entry of the British into India. / 190”19 &§
Y TF(55 G CUTIFHEF: YTF & BLOLISSH|L_GST

B pLoewT LewenTLiL] @) (hBSS TV, ()5 W Tailed
L)L 19 &f BIGDLP @)% GTHILIL] Fapailedena
3. The British obtained permission from the
Mughal emperor Jahangir to establish a factory at
Surat in 1613. /161360 @035 o0 0% mSHFTV
GOLDES (LPFHGVTIT D TFT 6uD MBIFIL_LD

2 a9ILoG) QP et

[A] Only one/ I 1oL”(HLD

[B] Only two /2 1oL (p)LD

[C] Only three /3 1oL” (hLD

[D] None / 618D 06V
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0.107) ‘The Charter Act of 1853 is considered a
milestone in the evolution of the Indian Parliament’.
Which one of the following is correct?

1853 91b gyes1(h) UL eoL_w FL 11D Q) BFw
LITTT@BLOGTDS B 6O auaTiFFR ulled 6p(h (LpSSHNW
Y BIFLOTHS &(hSLILIHFDI.
SLHSHFETL_UPPIe) 615 FAWITTS]?

[A] The Charter Act of 1853 established a bicameral
central legislature in India for the first time. / 1853
FLL 1D @QBPwnailed LpSTLpedD @) FeoL
@LOW FL L LDGIDEeDS Bl

[B] It, for the first time, provided for the participation
of Indians in the legislative process. / Q)5S [j& oM st
FL L 1o OFwedpemmulled L1mGHmenL
(LPSST(LPEOD W TS G LPTEIH WG]

[C] It separated, for the first time, the legislative and
executive functions of the Governor-General’s Council.
/ <24, @5 B[~ ST TGV %6y GSTF GOl FL L LOGD
LOPMILD BITUTSLT LIGKTIE G O (LS GST(LPGO/D I T
EDIEEET

[D] It provided for the direct election of Indian
representatives in the Central Legislative Council. /
®LWW FL L b@TnFP Q)% w LN7H) 5% 56T
Groy Csige epevrd Capiey OFuiwiim
GouenT(HLD 676518 Fn LI

0.108) With reference to the Charter Act of 1813,
consider the following statements:

1813 941D Yewr(h) LIL DLW FL_L_FenSL]
LpmILT L9610 HLD FoDmIFHearT LIFES)SE e LD:
1. It completely ended the trade monopoly of the
East India Company in India. / (@)bSw mailed
Dyse QEu ApiasersBan auisss
FIUTH SIS LLHPIQILD (LpLY S5

2. Christian missionaries were permitted to come
to India and preach their religion. / G plav g e
LIBSWISHAT @) BFNITYS S UbSl HEI%EHe LI
355 CLITHES IO BEHLILIL L coTf

3. The Act recognized the role of the state in
promoting education by including a financial provision
for the revival of Indian literature and for the
promotion of science. / @)BSH W @)eV&SHWILD
wpnid ynlaflweev 2015 GHallss B

TRB

apLT(hFeard CFISS ST eLpevLd SO len WL
2615 & IILILISH 6O Y TFGT LIBIHFS &GD)S5S 5]
Which one is correct? 618 FiflLITesIS|

[A] Only one/ I 1oL”(HLD

[B] Only two /2 1oL ()LD

[C] All three / eLpeyTmiLD

[D] None / 61&|6Lb ] a6V

0.109) In the history of India, the infamous 'Black Hole
Tragedy' is related to?

Q@ BFW augeTHBleD, LITLILLDD "% bSIHaT
Carsid’ 618569168 OB ML_[JL60 L Wig)?

[A] Battle of Plassey / 19ewmed) Guimg

[B] Battle of Buxar / Lug&mg Guimg

[C] Carnatic Wars / &5Bm14-& GLimgser

[D] Battle of Surat / &r5% Guimg

0.110) Consider the following statements about
Brahmo Samaj:

LIGT6U (LD FnDMIFHEHAT LITLOLD FLD TS F)GoT
LIGHTL{H6TTH LIFF)SFH@LD:

1. Opposed idolatry / e 6v&% T
ULBILITL (B G TINS5 Q) (BHSSI
2. Criticized the caste system / FITS)

YemLoLiewL! o FFSSS

3. Accepted Puranas and divine avatars for
propagating its objectives / &1 GBS B1%e® 6T
LUl Lgrestsiser opmid 0)&uiafs

D USTIBISHEH AT IDMIF O)FT6wTL_G

4. Popularized the idea that Vedas were infallible
/ CoUBBIEGT SaUD TETEHG 6V 616
sBS®S LNTLLiLGSS g

Which one is correct? 61&| FflwTesig|?

[A] Only one/ 1 oL”(HLD

[B] Only two /2 1oL (p\LD

[C] Only three / 3 1oL ()LD

[D] All four / presT@LH

P.T.O



0.111) Consider the following pairs:

LiesTeupLd (@)enent Henar LIfFedlssaLb:
Governor-General : Important Policy / &algest
Oeeged : (Lps%Hw )% TeTens

1. Lord Lawrence : Policy of Masterly Inactivity /
IIeTad LI97L: (LpSEBW [FL_a1LY SeHFD 6T

Q@ evevns ClETaTens

2. Lord Dalhousie : Doctrine of Lapse /

L reGlanerd 971 . eurfle @upLiLy Qs merens
3. Lord Wellesley : Subsidiary Alliance / eomgL”
Oaucdevav el : GlemewTLiLIGH L L L LD

Which is correct? 618l FHWTeSTSI?

[A] Only one pair /I @)enest oL"(HILD

[B] Only two pairs / 2 @)e® et aT LoL" (hLD

[C] All three pairs / 3 ()6 58T @V LD

[D] None of the pairs / 6Tbg ()0 6wT @1 LD
@)evemev

0.112) Consider the following pairs:

LeTeupLd () ementsenar LiflFellEsa Lb:
Organisation : Founder / 9jewLpLiL] : BlmjcceTd
1. Poona Sarvajanik Sabha : M.G. Ranade /
LYGOTIT FHaggeslld FLomgd : 6TLD. @8). grewrT(GL_
2. East India Association : Dadabhai Naoroji /
Fps @ @Q)BFw 2 CFre Guayer . $rgaLITL
BrGrmed

3. The Indian League : Sisir Kumar Ghosh /

@ BPwetr 58 : AT GLomg G may

Which one is wrong? 61%| $6um|?

[A] Only one/ 1 1oL”(pLD

[B] Only two /2 1oL (p)LD

[C] All three / 3 @)@ auuyLb

[D] None / 61&|@LD 9606

Q.113) With reference to judicial reforms of Lord
Cornwallis:

srgereuredled L9 ml(LpSHLILI(HS B W
b33z Fi% 55 EI%6T SIS

1. Judicial powers of Collectors were removed,
they were made revenue officers. / 06)ev& 1L_[j%afl 6ot
881D ABSMILD FESLILIL(B), euisar
QUIBUTW B FTRHEHGTTS LOADDLILIL L_GoT

2. District Faujdari Adalats dealt with criminal

cases under Indian officers, with qazis and muftis

TRB

assisting. / LDMGUL" L 0%0)L1aTed % mif]

9B TVSHFHAT GHDDINIG) QULPS &% 6T
@B w PETRUNGT SLp, FT28)S6T LOHMILD
(LPoSLIFFHGT 2 SailuL 6T FL_&F Ui

Which one is correct? / 61&| FHW mesTg)?

[A] 1 only /I oL (HLD

[B] 2 only /2 1o1" (L

[C] Both 1 and 2/ 1 opmiih 2 @ gest(®Ld

[D] Neither 1 nor 2/ 1 9je0avg| 2 06w

0.114) Which of the following statements about the
Civil Services of British India is/are correct?
L9919 0y @B wraier Flalled GFenausar
@D3G) LI68TeU(BLD FnDMI% T GD 615)/6Te0 6L
Flw mesTem 61 ?

Lord Lytton introduced the covenanted and
uncovenanted services. / @S 1L_&T L97L) 2 wgLoL 1
BlI6UTSH LI LIGwTI% 6T LoD MILD 569 GT LGS %6 6T
ABpSLILIGSG 6w

L Fort William College remained the training
centre till Independence. / @ B&w @i (HFe»ev aUenT
GumiL” afleveSlwid sevarf LD eoLowoms
OICIEET

2. Charter Act of 1853 allowed Indians to enter
civil services based on Macaulay Committee’s
recommendation. / 1853 FTFewTLD (@)bSWITH@H% S
Falled FFafFed HiewLpw eILLPS55
(LorsTGev LA 19 LiflE G TuilesT

L9 LiLienL_uilev)

[A] Only one /1 1oL (H)LD

[B] Only two /2 1oL”"_ ()LD

[C] All three / eLp&yTm)LD

[D] None / 61g|ajLD @)60e»6V

0Q.115) Consider the following pairs: Battle — Treaty:
LesteupLd Ceomig senarti Limpmiser. GLimg —
o L_erim(p):

1. First Anglo—Mysore War : Treaty of Madras /
LS 9,15 Gevr-ewio@ i GLimy : LogFmen

o 1_err(p

2. Second Anglo—Mysore War : Treaty of
Mangalore / @) gesstL_mid 4,m1%) Gev 69 Lo @ I
Gumg : omigearns o 1 coTLIT(h)

P.T.O



3. Third Anglo—Mysore War : Treaty of
Seringapatam / eLp I TLD 9,515 G6v T-69 LD &5 [
Cumg: ApmiFLIL 1L ewrid o 1_esTLim(p)

Which one is correct? 61%] FfWTesg|?

[A] Only one/ 1 oL”(HLD

[B] Only two /2 1oL (LD

[C] All three / eLpeyTm)LD

[D] None / e1g|aLb (Q)e0emev

0Q.116) In which year did the Boston Tea Party take
place?

L L_air GoB5 oA ES TS spainig o
peoL_GClLIDDG?

[A] 1765

[B] 1773

[C] 1789

[D] 1799

0Q.117) The Hundred Years' War was fought between
which two countries?

Bl Y,esr(hL Gumg 6155 () gewt(h)
BTHSE5% QenL_ulled pevL_OLIPmS?
[A] Spain and Portugal / @ Q) L1ufesT LoD mILD
CUITTFFHSHV

[B] France and England / L97m6sTa0 LopmyLd
Q@) EISTHS

[C] Germany and Russia / @\ggiLoesf) LopmiLh
T WIT

[D] Italy and Austria / ()&% 1eS) LopmyLd
<0G flwm

0.118) The attack by the Third Estate on the Bastille
prison sparked the

LImavLg 60 Henmuiled eLpeTm LD &Ll 6ot 6ot
EAEACELRY LI Feow g SHTesTLg Wi.
[A] American Revolution / Qof&&L1 gL &)

[B] Russian Revolution / geyuwiLl LjgL" &)

[C] French Revolution / 190)g@harLl LygL" &)

[D] Industrial Revolution / Qg mfledgieomLi LygL" &)

Q.119) Who introduced the Code of Hammurabi?

o (LpaTLll) FL L Feng m(LpsLILI(HS B w6 F
wmg?

[A] Hammurabi / e b LpgmLs

TRB

[B] Nebuchadnezzar / Q1%L Q) pFr
[C] Sargon / FTisest
[D] Ashurbanipal / 9@, JLimesfLITeD

0.120) Who was known as the 'Father of History'?
'QUTIDMIGT HBHWS 6TGTM]
QELPSHLILIL L& WTh?

[A] Herodotus / @amGrmnGL_m_ab

[B] Aristotle / fledL_mL" 19 60

[C] Thucydides / SupF1q.L" e

[D] Socrates / GFng L 1e a0

0Q.121) Which civilization is credited with building the
Pyramids of Giza?

R 970 BHFe»as HL 19w GLI(heOLD 6TBS
BI&H&S505F CFIHSSH?

[A] Mesopotamian / G)oF6) 1T GG LS wiesT

[B] Egyptian / TS L1 wi i

[C] Greek/ &) Gugs g

[D] Roman / Ggmiog

0.122) The Magna Carta was signed in which year?
LDGGSTIT STTL_IT 6ThS 2,GUTLY GV

& WpSH L i1 g?

[A] 1066

[B] 1215

[C] 1492

[D] 1648

0.123) Who was the first European explorer to reach
India by sea?

SL USWTS @) BHWTDe (LpSeSled
9enL_pg @CrrLilw o,rmuiFFwrers wmg?
[A] Christopher Columbus / & e GL_mLig

& meVLDLIGD

[B] Vasco da Gama / aumevG&T L &mLDT

[C] Ferdinand Magellan / @) Lij1q esTresrL”

GLo Gl evesr

[D] Marco Polo / ongGasm GrimnGevr

P.T.O



Q.124) The main reason for the decline of the Roman
Empire was .

Gomoll CuarH et afpFF s % mest (LpsHw

& TIGEOTLD )

[A] Barbarian invasions / LimgGuifluwig

Le» L Qui®LiLsaer

[B] Industrial growth / Qs mLfleOgIenD UaTIFEF
[C] Agricultural surplus / Gauemmesst B LD

[D] Formation of colonies / & mevesfls e e

2 (HhUTSHSLD

Q.125) The Renaissance began in which country?
LOMILOVTFF) 6THS BTL 1960 QS TL_mI%H WG ?
[A] France / 9 gmesra

[B] Germany / G)gojLoGst)

[C] Italy / @85 1e0)

[D] Spain / av G Liul)esr

0.126) The Treaty of Versailles ended which war?
OeugGlFuieved @LILIBSLD 6ThFLI GLimen T
PLY55317

[A] World War 1/ (Lp&ed 2_evaLi Guimg

[B] World War 11 / @)gesstL_mid 2 ev& L1 GLimg
[C] Cold War / LiesfliGLimg

[D] Crimean War / @ p8lw Grimg

0.127) Who was the founder of Buddhism?
QO LITES 0SS B 6T BlMIGUGT W)’
[A] Mahavira / 1o&malrg

[B] Buddha / L1551

[C] Confucius / &eSTLLF w e

[D] Lao Tzu / @wrnGaum e

0.128) The Industrial Revolution began in
OsmflevgieomL LT & BTL 19 GO
QsTL_mPuig).

[A] France / 19 gn&sTen

[B] England / @) m1%)6vmbgi

[C] USA / <G\ flssm

[D] Germany / G\gojLoesf)

0Q.129) What was the capital of the Aztec Empire?
o0& CLTH e o BSILD 6T5)?
[A] Cuzco / a0 G

TRB

[B] Tenochtitlan / @)_Gestmdd " evmest
[C] Lima / &Siom
[D] Santiago / Fnessiig wimGsm

0Q.130) The Berlin Conference (1884-85) was
concerned with the .

Cugelert ompa® (1884-85) GIEES
95FD OB T (BBSS.

[A] Partition of Germany / GlggiLoesfluflesr L9fey
[B] Colonization of Africa / Q4L1L90155%
FMTVGTSF| LD

[C] League of Nations / bT(H)&aN6uT dnl L _e®LOLILY
[D] UN Formation / @.[5. 9je@LDLIL]

0Q.131) The Ottoman Empire was founded by

RL GL_mwer Gupgens plpiailweud
[A] Osman I/ gavLomeer [

[B] Suleiman / %656V LD T6ST

[C] Mehmed 11/ Goaip QoL ” 11

[D] Saladin / Frev19 63T

0.132) Who led the military campaign to annex Sindh,
calling it a “rascality”?

FBGI LOTHTETSHWS ()6 GTLI LIS M S T6ST
gresiel L)TEFTISS0 G SVELD &TBISIG T
wmg ?

[A] Sir Charles Napier / i Fmgevev GrLitfwig

[B] Lord Dalhousie / eomgL L_me00)amar)

[C] Warren Hastings / eumgest Gam e Ly mlen

[D] Robert Clive / grLijL” &e»amel

0.133) Who was the first Vice President of India after
independence?

QBFwn H3pE I (LD LIPS LS SiemenT
G WTHS ST WITF?

[A] S. Radhakrishnan / 6Tew. T3 M%) (e GRsT 68T

[B] Rajendra Prasad / pnGgop @7 L970F15

[C] Zakir Hussain / @& J @ enFeer

[D] V.V. Giri / o9.09. &

0Q.134) Which Five-Year Plan was launched

immediately after independence?

P.T.O



FSBS TSBD & LIGT 2 L_GSTLg WIS 6ThHS
@BSTET(HG L L 1D CFmL_msLiL’ L g?
[A] First/ (Lp&e0

[B] Second / @UGUESTI_/TLL')

[C] Third / eLpesm mLd

[D] Fourth / b1&18 mLD

Q.135) The reorganization of states on linguistic basis
was done in which year?

O omfleumfwimest omplev LopFIeoLDLIL] 6THS
2,610 FenL_O)LIDD?

[A] 1949

[B] 1956

[C] 1962

[D] 1975

0.136) Who was the first Woman Prime Minister of
India?

@) BB wrdeT (Lpged OlLIGwT LATSLoT WmF?

[A] Vijayalakshmi Pandit / @flggwiev” &1 LicwsTig &
[B] Indira Gandhi/ @ B& 0 %mbS)

[C] Sarojini Naidu / #Ggredlest) b muy®

[D] Sucheta Kripalani / Q&g & flLimevmesf)

Q.137) In which year was the Green Revolution started
in India?

Q@QBSwreiled LKL LTL F 6ThS 2),65TLg 6V
QOFm_misLiL L g?

[A] 1950

[B] 1966

TRB

[C] 1977
[D] 1982

0Q.138) The term ‘Non-Aligned Movement’ is closely
associated with which Indian leader?

‘9ot CFuT QuISHLD’ 6THS () BB W

SV (KL OlGTL_JLiew L WwF)?

[A] Jawaharlal Nehru / @evuamgevmed G h

[B] Sardar Patel / Figmy 11" GrL_ed

[C] Lal Bahadur Shastri / @wmed LISSTT FaedF)f]
[D] Rajiv Gandhi / prgde &b s)

0Q.139) Which commission recommended the
reorganization of states on a linguistic basis?
wirBlewsgear Qwrflamfwrs wn FreLoss
LB ISHS 60 ERTIWILD 6157

[A] Fazl Ali Commission / 01160 &0 )6V & L6 61y GoT
[B] Sarkaria Commission / FJ&%milwim &LO) oy Gsr
[C] Kothari Commission / G&1gmifl &L0)eyuest

[D] Mandal Commission / LDTGSSTL_GO & LO)@xy st

Q.140) The first general elections in independent India
were held in .

F5BS1 Q) BHwnaiar e ClLTgS
Capigevsar @) bLBSS

[A] 1948

[B] 1949

[C] 1952

[D] 1957
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EDUCATION PSYCHOLOGY
SeLadl 2 _araillleL

Q.141) The Mid-Day Meal Scheme has been
renamed as which of the following?

(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Q.142) The main goal of the NIPUN Bharat Mission
is to ensure foundational literacy and nhumeracy for
children by the end of which grade?

(A) Grade 1 (B) Grade 2

(C)Grade 3 (D) Grade 5

Q.143) “Jaadui Pitara” is mainly targeted for:
(A) Secondary school students

(B) Parents only

(C) Teacher educators

(D) Foundation stage learners

—_ ~— ~— ~—

Q.144) “Integral education” covering five aspects of
human development is a concept advocated by:
(A) Sri Aurobindo

(B) Jiddu Krishnamurti

(C) Vivekananda

(D) Tagore

Q.145) Who is considered the Father of Sociology?
(A) Max Weber

(B) Auguste Comte

(C) Karl Marx

(D) Emile Durkheim

~ -l ~— ~

Q.146) Rousseau’s educational philosophy best
supports which concept?

(A) Societal control

(B) Naturalistic development

(C) Industrialization of education

(D) Rote memorization

—_ ~— ~— ~—

Q.147) When was Anna University, a premier
institution for engineering and technology,
established?
(A) 1929

(C) 1982

(B) 1957
(D) 1978

TRB

0.141) W 2 ewTeys FL L LD @)eieiTm)
wpIQuwAL_Liul B ererg?

(4) PM g,ammg Guimggestm

(B) PM Sy estesLyiesstm S 1_Lb

(C) PM GLIToWGT 60315 [5]7LO TG8T

(D) PM oa11" 14555 @) a5

0.142) NIPUN umgg S L g@er (ps&Hw GprssLd,
GBS SHET 61hS oG LiLewr (LpLg@fled
YL L& SO ey LOPMILD 6TETCRTHEH L]
Cumieuens 2 1B OFUIeISTELD?

(4) eu@Liy I (B) au@LiL 2

(C) au@LiLy 3 (D) @@L 5

0.143) “gangrul) 35 mam"- 6wt (LhSHFW Q)5 E?
(4) QIeSTL_TLD [BleH6V LD TESSTo [F5% T

(B) QupCmrjser oL BLd

(C) P Awi Fevaflwmerd

(D) 910 LILIGHL_ [Bl6H6V LD TGEST6U 7% GiT

0.144) wesfls uariFAUlST @ESH Y LOFBISWH AT
2 GTATL EHW  “@hEIHwenThs Hevall”  eTeID
FBBMS eS| DISFiau:

(A4) uf gl Csm

®) -6 Dvapemrapiss

(C) NGousmerps i

(D) 11

0.145) FeLp %@ GO)GST B e G 6TGTM F(5SLILI(B LIG T
wmg?

(4) Godav GlauLig

(B) QpsevL” SabL”

(C) STH6V LDTIS e

(D) 611860 L_J&0)suiLh

0.146) enGFrailar s0ails $ESIQULD 6THS F(HSMS
FpLLITS Y FHSFDH?

(4) FeLps HL_HLILIT®

(B) @Qupensd auariss)

(C) sevailufler G)gmLleOLD W LD 75560

(D) LoGTLILIML_LD

0.147) Qumpluflwied LopmILD
OFTPOBIL LISHDEHTGT (LPSGIGOLD B0 6 GTLD TGS
<2 GUSTGHSTIT LIS VSBELPSLD e1LIGLITG)
Boieuiu L g?
(4) 1929 (B) 1957
(C) 1982 (D) 1978
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Q.148) Who is hailed as the "Father of the Tamil
film industry" and is known for producing and
directing the first silent film in South India?

(A) K. Balachander

(B) Dada Saheb Phalke

(C) R. Nataraja Mudaliar

(D) S. S. Vasan

Q.149) Which Chola king is famous for his naval
expeditions that extended the empire to
Southeast Asia?

(A) Rajaraja Chola |

(B) Rajendra Chola l

(C) Kulothunga Chola |

(D) Adityal |

Q.150) Human brains having enactive, iconic and
symbolic modes of representation. This concept
formation was given by

(A) Bruner

(B) Pavlov

(C) Piaget

(D) Thorndike

Q.151) Pre-operational stage is one of the
important  stages of Piaget's cognitive
development between

(A) Oto 2years

(B) 11 years and above

(C)7to 11 years

(D) 2to 7 years

Q.152) Physical developmentis .
A) Quantitative in nature

Qualitative in nature

Reflective in nature

Continuous in nature

~—~

(

(B
(C
(D

~— ~—

Q.153) In Pavlov's classical conditioning, the
unconditioned stimulus (UCS) is a stimulus that:
(A) Elicits aresponse only after repeated pairing
(B) Elicits a response without prior learning

(C) Becomes neutral after conditioning

(D) Is the same as the conditioned

TRB

0.148) "s0ps PengLiuL g SHpUIeT FHhens"
GTGT M) GumppLiL®ueig LopmiLd
O\g &6t 5% wi Tl Gor TER) 201G LD G
gLl s WSS QUSHWalF wTh?

(4) C&. LTeVFHS T

(B) 3151 F1Gam Ll LT Gs

(C) Q0. BL_TT8Y (LpSSIW T

(D) 6Terd. 6TaW. GUTFGET

0.149) 165 Gamyp eiery OCGeTIHLPEG 2 FwT
QeI BTG Gugrens eSS w
SL_PLIGHL LI LILIGSTBIS @SS MHLI L|sLH0)LIDDeT?
(4) @urganmey GaFmipest I

(B) @unGeap&r Camipest

(C) &Cewnsgimis CFmper

(D) AFgwrl

0.150) wefls  apeworuinesg GClFwedLIB Blen6v,
2 (haus plenew Lopmid GO ® Blewev GLmrein

5169 VSO T GO L_ULIF] - GTGTD EIUELG)
2 (hUTEF W

(4) Liemesti (B) uraiGavmal

(C) HurGgy (D) &ricsIenL_&

0.151) Qeweysd wWPUL L Bl  6IeTLIg
LlwurGgoullest WleySP T uaTidd Blewevsafed
6ThS QU B GT(HSHGHL LIL L FI?

(4) 0 (LpSev 2 UG Uen T

(B) 11 auwig| LopmILD 9FHm S GLoed

(C) 7 (psev 11 auwig) aueny

(D) 2 (LpS® 7 QWG| T

0.152) 2 I QUGTIFH) 6TGOTLIG)

(4) QaTd)L_& 19 W S6T6HLD

(B) 37 219 LiLienL_ufevT6sT F6Te9 LD
(C) Kr@L1edLiLy SesTenLp

(D) Q& TL_FFF WIS FGOTEHLD

0.153) unalevailesT Lurgd LW LIPSSHLILIBSSeS)6D,
Blupsemear @Qeewrs grenthsew (UCS) 6IerLIg)
1SS FTeST(H B VTG LD?

4) et eay@®Lw Qeanewss LInGs
SN TP LIBSSILD

(B)  (pa¥tELIgw  SOOOIGY  FHIEHTIL_ DGV
TP L (HSSILD

(©) LYpESLILHSSISSL RICH
15D B0 GUWITESTS 1% LDTM]LD

D) BlupseaTiu®ssLuC L. uFew CumrewGeu
QGBS
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Q.154) Thorndike's 'Law of Effect' states that
behaviors followed by satisfying consequences
are likely to be:

(A) Weakened

(B) Forgotten

(C) Repeated

(D) Generalized

Q.155) The Gestalt theory of learning emphasizes
that the learner perceives things as a:

(A) Collection of individual parts

(B) Whole or a unified pattern

(C) Random set of stimuli

(D) Response to a single stimulus

Q.156) The need to succeed, to excel, and to
achieve a high standard is known as:

(A) Self-Actualization

(B) Power Motivation

(C) Affiliation Motivation

(D) Achievement Motivation

Q.157) According to Guilford's 'Structure of
Intellect’ model, intelligence can be classified
along which three dimensions?

(A) Single, Two-factor, Multi-factor

(B) Operations, Contents, Products

(C) Componential, Experiential, Contextual

(D) Linguistic, Logical-Mathematical, Spatial

Q.158) Who proposed the 'Group-Factor Theory'
of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal
comprehension and spatial visualization?

(A) Louis Thurstone

(B) Charles Spearman

(C) Raymond Cattell

(D) J.P. Guilford

Q.159) Continuous and  Comprehensive
Evaluation (CCE) was legally supported under:
(A) NEP 2020

(B) RTE Act 2009 Section 29(2)

(C) Kothari Commission 1966

(D) NCERT 2000
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0.154) @wBLBSTwIT aenaTeFears OFTL_Fhg

QU(HLD bL_&eHSF 6T L9esTeu B Lo MM [OIGES:
umuitiyerergy ereim) GsmieenL _EHer 'ailenarey
A% FmIBDGI:

(4) LevafeTLiLI(hSSLILIBLD
(B) Lop&&HLILI(BHILD

(C) et (pLd ClFuiwiLiLi®Ld
(D) QungienLoiLiHSSLILIHILD

0.155) Gsay_mewl’ sppew Csmlur® spmibT
Cur@peTsemar eIaIUTY] 2 GIFHDIT  GTTLIHS
el nISSIFwSI?

(4) safisged] LGB saflar CgTELL

(B) (Lp(LHEDLDWITS D GVGVS & (55l F) N ewTbS
QLY OIS F 6D

(C) Gopp STETHS@DS i ClET@LiL)

(D) @D S1655(H)SEVI%5 /16T LiS)6D

0.156) QeupmMOp, PwEa ferTmis, HMILL o Wi
B3 el CauahLd e1arn CHenal @) alelmni
W LPSHSLILI D FIDGI:

(4) &BT-2_ TS GV

(B) ABHTT 2 IS

(©) @ ewewtLiL] o g5

(D) %G8 2_[B5]|% 60

0.157) F)60os GLimgL” 19 cor ') GusT 6T ) @) 68T
SLL_eoioLiL)' (‘Structure of Intellect!) oM@ fLiLig,
BIGTEIHIene  6Th% PG LIfILDTeHTBI% 6V 68T

9Ly Litien L uiled UmSELILI(HDSHGVTLD?

(4) @oevw, Quest(h %mIesst, LIGV &TIess

(B) QawLITRS6T, 2 aTaTL_&&BI%6T, 6D aT6) ST
(C) FmIHaT, SILIQILD, &FLPED

(D) Qmfludwed, $is5%-Fenlls, Q)L 6HFTIBS

0.158) mewrenipley e1airLig) O ompILs Lyflged pmiLd
Q@L_@harins ST FLILERSSD GUIRTD (LpSSTEHLD
LDGST FMGTHATID Y6SS TR Fnf), 'GH(Lp HTTesH
GamLm®' (Group-Factor Theory) 6IGSID [HIcsTessINa%
Carlum e perOmfBseus wirg?

(4) erued ged GLmesr

(B) Fmgevet e NuwifGrLoesr

(C) Guoessr” G119 60

(D) Ggo.19. Eevos>GLimgL”

0.159) Gam_jd@Rwmes wPmid affleimest FLILTH
(CCE) 5" L f@wns Y HsSLILL L G 61568 SLH?

(4) CsQw svails Clamearenss 2020

(B) @eveuF ommiLd S L_mus He0ai FL 1L 2009,
Liflay 29(2)

(C) Gangsmil gy, ementwiLd 1966

(D) CaFw a6 rmuids wpmiLd LudnF

Soy TR 2000
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Q.160) Which of the following is the correct order of
the hierarchy in evaluation?

(A) Test » Measurement > Assessment > Evaluation
(B) Measurement » Test > Assessment > Evaluation
(C) Test » Assessment » Measurement - Evaluation
(D) Assessment > Evaluation > Measurement > Test

Q.161) A Mathematics Readiness Test to predict
performance in Algebra is an example of:

(A) Achievement Test

(B) Aptitude Test

(C) Diagnostic Test

(D) Prognostic Test

Q.162) Who is known as the father of the Great Man
Theory of leadership?

(A) Fiedler

(B) Thomas Carlyle

(C) Kurt Lewin

(D) Max Weber

Q.163) A student reflects on their learning strategy
and revises it for better performance. What type of
knowledge is this?

(A) Factual

(B) Procedural

(C) Metacognitive

(D) Conceptual

Q.164) The term Curriculum is derived from a Latin
word “currere” which means:

(A) To teach

(B) Torun/racecourse

(C)To learn

(D) To read

Q.165) Which principle of curriculum development
encourages addressing various learning styles and
preferences?

(A) Balance

(B) Individual Differences

(C) Utility

(D) Relevance

Q.166) Project-based, real-life learning in curriculum
best reflects which approach?

(A) Logical

(B) Spiral

(C) Unitary

(D) Topical

TRB

0.160) eTaupeusToupmPled 618 LDFLILTL 19 6oT
Flwmer Blewevpewm (Hierarchy) auflens?

(4) Cangemer — a1l BHFe0 — LG LILFH —

LS LILITUIGY

(B) a1adl(hFed — CFigener — oG LILTH —

LS LILITUIGY

(C) GaFngemest — LG LILTH — arai(BHFe —

LS LILITUIGY

(D) @ LILTH — wHLiuTwia] — aTalBHFe —
Gargemaer

0.161) @O wLigTalled GCFuaBDeveT Fellss
LIWGTLI(h SSLILI(BILD E T SWITHBe»6v
CFIBeaeT ............-5&H @b 6T(BHSSHISHTL(B):

(4) Fngenesid CFmgen e

() Bpemia) Grazemen

(C) sessL_mH 60 CF156m 6ot

(D) (Lpestan L 195 FessflLiL) CFrgenest

0.162) A& Lfw welgi Gsm Lim 96T (Great
Man Theory) EeS WTg?

(A) oBLfL eui (B) SMTLDGD HTHEHEV6D

(C) G erailesr (D) Godav GlauLig

0.163) @b LOTEHTRUT STH SHDGV 2 %H WL LIPm)
FEF3g, Fpps OCFUDBDHFETE  YDSF
B (BSSIFDTH. (D)5 GTCHIGST 61T W TEST?

(4) 2_essTen LD M6y

(B) pewL_(Lpeop Doy

(C) QoL L_mangefL 1961 9y Blay

(D) B3P wed 3Play

0.164) Curriculum eresip GlFmev WG e
UTTEeSWART “currere” @)eS(BbH 2 (HUTH DS,

Q@ ser ClLmpar:
(4) 5195500 (B) @®'50
(©) sppev (D) aun§l5gev

0.165) uTL_ @ 1L euerid@uileT 61555 OlFTeTenH
L Gaumy FDMDGD Limessil & T LopmiLh
QI (HLILIBISHEH QT S WTAT 2615 %% F) D )?

(4) FLoBlemev

(B) et 1L Goumim(h&er

(C) LwiesTLIT(R

(D) QTGS SLd

0.166) L 1L yugLiLieoL_ulevmest, Blgg THSH®S
OO  6ThS G UPPW  FpLiLTs
r@LdEFmGI?

(4) 3755 FHUWITET eI G (LpeOD

(B) #1p&d>|G8DI & (LpeOD

(C) RBELD 2GS (LPeOD

(D) S@@LIL| 3T LD
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Q.167) Which institution leads the national Virtual
Labs project in higher education?

(A) IT Bombay

(B) llISc Bangalore

(C) IT Delhi

(D) NIT Trichy

Q.168. Which toolis India’s first Al-powered teacher
robot?

(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Q.169) TPACK was proposed by:
(A) Mishra & Koehler

(B) Skinner & Crowder

(C) Morrison & Hunt

(D) Gagné & Krathwohl

Q.170) Which platform is India's main MOOC
provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) SWAYAM

(D) e-PG pathshala

TRB

0.167) owi saluiled CsHw CouiBlsd
UIISEIFOT B L_Gens UPBLSSHILD BDIGTLD
615/?

(4) IIT (LpLoe® LI

(B) 11Sc Q)LisI%eor

(C) IIT G)_aD6¥)

(D) NIT (558

0.168. QpHwralest (LpFed Al-@QUSHLILIL L
o FRwg CorGum Hmmal) 61gy?

(4) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

0.169) TPACK (LpGrQomLflb& e issei:
(4) Bevgm & Camabevs

(B) ev&estesy & & payl_i

(C) orfFest & o essrl

(D) s1Gerr & & ymgGaumed

0.170) @pFwrader pEFw MOOC eulpsIG b
P OER &6mehPwionseyLd GlFwedLIBLd SaTLd
61%|?

(A) @vanwtd L9y

(B) LTS ayTevT

(C) evauuwith

(D) @-1928) LiTsauTevT
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GENERAL KNOWLEDGE
QU giMiey

Q.171) The first Indian to become a member of
the British Parliament was?

(A) Mahatma Gandhi

(B) Dadabhai Naoroji

(C) Subhas Chandra Bose

(D) B.R. Ambedkar

Q.172) Which was a military title during
Sangam Age?

(A) Poligar

(B) Perumakkal

(C) Enadi

(D) Manigramattar

Q.173) The Directive Principles of State Policy
(DPSPs) in the Indian Constitution were
inspired from which country's Constitution?
(A) United States of America

(B) United Kingdom

(C) Ireland

(D) Canada

Q.174) The highest peak in the Aravalli Range
is__

(A) Mount Abu
(B) Anamudi

(C) Doddabetta
(D) Guru Shikhar

Q.175) Which of the following is classified as a
primary pollutant?

(A) Ozone

(B) Smog

(C) Sulphur dioxide (SO,)

(D) PAN

Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5

TRB
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Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5

Q.177) Which among the following
organisation released Multidimensional
Poverty Index in India?

(A) NITI Aayog

(B) Ministry of Economic Affairs

(C) National Statistics Office

(D) Ministry of Internal Affairs

Q.178) Who is known as the "Moon Man of
India"?

(A) Dr. K. Sivan

(B) Dr. Mylswamy Annadurai

(C) Dr. Vikram Sarabhai

(D) Rakesh Sharma

Q.179) The difference between the compound
interest and simple interest on 310,000 at 10%
perannum for2yearsis__ .

(A)X100

(B) X250
(C)R200
(D)X150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and

0.176) @mpFHwraier CsFw alenarwimL” (®
BIGT 6T BTeMe0 ClsmesdrL_m_L1LIHSm?
(4) 879 Gt 23

(B) QHavL" 29

(C) erLiged 6

(D) QFLiL_1bLig 5

0.177) @QBHwmailed LGy LIfLDTERT 6 mIe»LD
@O e Gleueuil L ereupLd

QM LOLIL|F TGV 6T5)?

) p% 9 Gurs

(B) Qumperngsrg aNeUE T 60 LDFFHLD
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(D) 2_0THIeDD O LOFFFLD
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(A) s g G%. Faler

(B) L_T&L_[ 69LDGOFGUTLE) 2| GESTGHT TS GO T
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(D) 1GLoey Fhtom

0.179) = 10,0008 () 10% aur" 19 ul6) 2
24, (NS @FSFH TG Fol_(h) @IL LY LODM/LD
eTaflw e 19 @SB WTFLD 6TRIRIGTE?

(4) =100

(B) €250

(C) 200

(D) 150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and
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